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��� ��	������� 	� �
��	����� ��
�������

���	��� �	� 
� ����	�����	� �	 ���� ���� ��� ��� �����
 
������ 	� ����
��	 �����

 �� �� �	������ 
 �
����� ��
������� ���	�� 
��� n �
������ ����� Aa 
��� �
���� ma�

!��"�
������ ��
��� 
�� ���	��� �� |θ〉a# 
���� θ �� ��� �
������ �
��
���� $� 
���� ���

�	��	
���  	�����"���
��
�� �	��
���
��	�%

a〈θa|θb〉b = 2πδabδ(θa − θb)

&�����	��� ��
��� 	� ��� ���	�� 
�� ������ 
� ����	� ��	����� 	� 	��"�
������ ��
���


�� 
�� ���	��� �� |θ1, θ2, . . . , θn〉a1a2...an
� '�� 	������� 	� ��� �
�������� �� ������ 
�

• θ1 > · · · > θn �	� �� ��
���

• θ1 < · · · < θn �	� ��� ��
���

����� ������	�
 ��
���� 
�
 �
������
����

�� ������
��� �	���� ����� 
�� 
� ������� ������ 	� �	������� (�
�������# 
���� �
�

�� ����������� 	� ��� (�
���� ����� 
� ����
��� �	������� 	���
�	�� Qs# 
���� 
��

��
�	�
��� 	� ��� 	��"�
������ ��
���%

Qs|θ〉a = χs
ae

sθ|θ〉a
'�� (�
����� χs

a �� ��� ����"s �	������� ��
��� 	� �
������ Aa� '�� ���� ���������� ���

���
��	� �����  	�����"��
���	��
��	��� '�� ��
���� �	� s = 1 
�� s = −1 �	�����	��

�	 
 ����
� �	����
��	� 	� ��� ������ 
�� �	������# ������	�� χ±1
a = ma�

)
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��� �����	
�� ���	
� ���	���	� �	� ����� �� ��� ������ ���� ���� ��� ������
��� ��

��������	����� ���������� �������

Qs|θ1, θ2, . . . , θn〉a1a2...an
=
( n∑

i=1

χs
ai

)
|θ1, θ2, . . . , θn〉a1a2...an

��� �����	
����� �� ��� ��
��	 ���� ���	
�� �����	���� ��� �����	���

• ��� ������	��
 �	������� �	� �������� ��� �����	 �� �������
 ��� ���
���
 ��	������

�� ��� �����

• ��� ��� �� �����	
�� ���	
�� ���������
 ��� ���	
� ��� ��� ��������� �� ��� ����

��	 ��� �� ��� ��� �������

• ��� �����	�� �����	� ��� ��� ��������� ��	 �� �	���	�	� ������	��
 �	����� ��� ��

�������� �� ���������
� �!����	����� ������	��
 �	��������

��� ����� ��"��� �� ���	���	� ��� �!����	����� �����	��� !���� �� ��#��� ��	 	��� 	��

�������� ��

|θ1, θ2〉ab = Scd
ab(θ1 − θ2)|θ2, θ1〉cd

��� �����	� ����� �	���	�� ��	��� ��� �����	�� �� ���� ��� $��
�%����	 �&������� '((�

()� (*+

Sc1c2
a1a2

(θ12)S
b1b3
c1c3 (θ13)S

b2c3
c2a3

(θ23) = Sc1c3
a1a3

(θ13)S
b1b2
c1c2 (θ12)S

c2b3
a3c3(θ23)

!��	� ��� ��������� �
�	 ��� 	������� ������� �� ����	������

,� ���	� �	� �� �!� ��	������ !��� ��� ���� ��� �� �����	
�� ���	
��� ��� �����	�� ��

���
�����

Scd
ab(θ) = Sab(θ)δacδbd

,� ���� ���� ��� $��
�%����	 �&������� �	� ������������� �����#��� ,� ���� !�	- !� ����

�������	 ���
���� ������	��
 ����	����

��� �����	�� ��� �� ������������ ��������� �� ��� !���� ������� ����� ��� �� �����#��

Sab(θ)S
∗
ab(θ) = 1 �.�.�

Sab(iπ − θ) = Sab̄(θ) �.�/�

��� �� �����	��� ��� �	�����
 ������	�� !��	� Ab̄ �� ��� ���	
�����"�
��� �� Ab�

��� �����	��� ��������� ��� �� ���	����� ��

Sab(θ)Sab(−θ) = 1 �.�0�

�� ��� ������� 	��� ������������

Sab(θ) = Sab(−θ∗) = S∗
ab(−θ) �.�1�
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Sab(θ) =
∏

γ∈Gab

tγ(θ) ��
��

����

tγ(θ) =
tanh 1

2
(θ + iπγ)

tanh 1
2
(θ − iπγ)

=
sinh(θ) + i sin(πγ)

sinh(θ) − i sin(πγ)

�	� Gab ⊂ R �
 � �	��� 
��


����� ����� 	
�
�	 
 ��� ���
	
��� ���������

��� � !����" ��
�� !�# ��	���	 $���
 �	� 
�!%�� �� !����%�� %���
 &�� %����# �!���	��#

��%������

 '	 � ��	
�
��	� �����#� ��� �	���%�������	 &�� � 
�!%�� %��� �
 � &��!����	 �& �

���	� 
����
 � '& %������� Ac �%%���
 �� �� � ���	� 
���� �& Aa �	� Ab� ���	 �	� ��


(�
θ=iuc
ab

= i(Γc
ab)

2 ��
)�

���� Γc
ab ∈ R �	�

m2
c = m2

a + m2
b + 2mamb cos(uc

ab)

��� �	� %������� 
���� |θ〉c !�# �� ���	����� ���� ��� &��!�� ��� %������� 
����

|θ〉c ∼
∣∣θ − iūb

ac, θ + iūc
ab

〉
ab

��
*�

����� ��� �!���	��# %���
 �& ��� ��%������
 ��� �����!�	�� �# ��� ��	
�������	 �& �	���#

�	� !�!�	��! �	��� ��� &�
��	 %����

 �+��
 �
��,

ma sin(ūb
ac) = mb sin(ūc

ab) ma cos(ūb
ac) + mb cos(ūc

ab) = mc

-
 � ��	
����	��� �	� ��
� ��
 uc
ab = ūb

ac + ūc
ab
 +�� ��� ������ 
%�	 ��	
����� ������
 ���

���	��������	 ��
*� �������


χs
c = χs

ae
−isūc

ab + χs
be

isūc
ab ��
.�

��������	� %����

�
 �	�����	� Ac ��	 �� ��!%���� ��� �� ��� &������$����	 %��%���# �&

��� � !����" �


Sdc(θ) = Sda(θ − iūb
ac)Sdb(θ + iūb

ac) ��
��

�������	
 ��
.� �	� ��
�� ��%��
�	� 
���	� ��
�������	
 &�� ��� %�

���� 
�� �& ��	
�����

������
 �	� ��� 
��
 Gab ��
�����	� ��� 
�������	� %����

�

 ��� 
������	 �& ���
� �������	


���� � �	��� 	�!��� �& %�������
 �
 ������ ��� ��������� ����	
��	
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�� ���������� ��� ��� �� ��	
����� �� 
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��������� ������������� ���  !"#
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Ac

Aa

Ab
ūb

ac ūa
bc

��� �����	 �	
���

μabc

ma

mb

mc

�
� ��� ���� ����	
��

������ �	�
 ���
����� ��������
�
��� �� ���
���� �������	

��� �����	
��� �
��	��� �� ����� ������

��
 �� �������� 
�� 
����� ������ �� � ���
� ��� �� ���� L	 ��� �� 
�� ���
 ������
���

��
�� ���
��� �� � ���� 
����� �� 
�� � ���
��� �� �
� ������
� ������ �� ��� Ei(L)! i = 1 . . .∞
�� � ����
��� �� 
��  �����	

"� #���
�� ���� 
������� $��������� ������
�� %&� ����������� ������' ��(������ ����

���
���� ��� 
(�����
���� �
�
�� )*! +! ,- ��� �� ��������� 
� ��� ������ �� 1/L �� 
���� �� 
��

�����
�  ����� ����
��� $���
���� 
���� ��� ������' ��� 
�� ����
�� ���

����� �����
����

�� 
�� 
�����	 "� ������
������� 
������� ������ ����� ������ �� ��� ��� ��� ���� ��.���
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� �������� 
�� (����

���
�  ����� ����
��� 
� ��� ������ �� 1/L	

"� 
��� ���
��� (� ����3� �������� 
�� ���� ������
����
��� �� 
�� ���
�  ����� ����
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�� �������� ���

����� 
�������	 4� ���� ��
������ ���� ��
�
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��� (��5	 4� ������ �������� �������� �����
���� ��� ��������
�	

����� �����	
��
�� ��	���

�������
���� �
�
�� �� ���
���� Aa �� ���
�  ����� ��� �� ������
������ (�
� 
�� ���

���
�� pa! (���� $��� 
� 
�� ���������
� �� 
�� (� � ����
���' �� ����
������ 
�

pa = I
2π

L
I ∈ N

2��������! 
�� ���
���� 
��� ��� 
�� �����
�� #���
�� ������ I $
�� �����
������'

���#���� ��
������ 
�� �������
���� �
�
� �� #���
���	 ��� ��� ������� (� ��
������ 
��

��
�
���

|{I}〉a,L

(���� 
�� ��������
 L ����
��! 
��
 
��� �
�
� �� �� ����� ��
�� �� 
�� ���
�  �����
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�����	
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��� �
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������ ��	
 ��� 
������ �� ��� ���� ���� μ������ ����� � �������� ��������� �� ��� ��������

�������� ���������� ��������� �����
 ��� �����
�� ��
 ������������ ��� 
������ �� ��� �����

���� ������� ����� � ������� �������� ����� �����
 ��� ������������� �� ��� �����
���

��� ������ �� ����� �� ��� ��
��� �� 1/L �� ��� ������������ �������

E =
√

m2
a + p2

a ���� �

����� ��� �

������� ���������� ����� �� ���� �� ����� 
���� �!����������� ���� ���

������� ����� ����� ��� �� ���������
 �� ������� ��������� ����� ��� ������ �� ��"����

������� #� $%����� ���������
 ��� "���� ��&� ���� ����������� �� ������ ��������� �������

����������� ��� I = 0�' ���� ������� �� ��� ��������
 μ����� ��
 ������ ()* ��
 ��� �������

���
 �� 
������� 
������
 �� "���� ��	� ��� �!������ �������� ��� ��� 
���������� 
�������

���������� �������� ���
 (+)*

Δm(μ)
a = −

∑
b,c

θ(m2
a − |m2

b − m2
c |)Mabc μabc (Γc

ab)
2 e−μabcL ������

Δm(F )
a = −

∑
b

∫ ∞

−∞

dθ

2π
e−mbL cosh(θ)mb cosh(θ) (Sab(θ + iπ/2) − 1) ����	�

����� Mabc = 1 �� Ac �� � ����
 ����� �� Aa ��
 Ab ��
 &��� ���������' μabc �� ���

������
� �� ��� ���� �������� ���� ���� ma ���� "���� ���� ��
 (Γc
ab)

2 �� ��� ����
�� ��

Sab(θ) ���������
��� �� ��� ��������� �� ��� ����
 ������

����� �����	�
��
�� ������

��� ,�����-��� �.������� (+/* ����� �� .�����&����� ���
������ ��� � �������������

����� ���������� �� n ��������� Aik ���� ����
����� θ̃k


Qk(θ̃1, . . . , θ̃n)i1...in = mikL sinh θ̃k +
∑
l �=k

δikil(θ̃k − θ̃l) = 2πIk , k = 1, . . . , n ����0�
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E =

n∑
k=1

mik cosh(θ̃k) ������
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	� �
�
����� i1, i2, . . . , in ��
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����
��� θ̃1, θ̃2, . . . , θ̃n$

|{I1, I2, . . . , In}〉i1i2,...in,L

����� �
 �� ������
		� 
�

 θ̃1, θ̃2, . . . , θ̃n 
�� �	��
�	�� 	� 
�� %�
������

�	�� ��
� ��
��


�� ������� I1, I2, . . . , In�

�	 �
�� 
� ��
�����	�� ��&��
�	� 	� 
�� ��
�
�� ������� Ik# �
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���	�� 
�� 	�� ����
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�� �
����
�

�� ������ θ' �� 
������ 
��� ����� 
�� �	��	���� �	����
�	�$

Sab(θ) = Sab(0)eiδab(θ)

����� δab �� �������� �����&�� �� �	�
����
� 
�� 
�� ��
��� ��	���

δab(0) = 0


�� �
 �� 
� 	�� ����
�	� 	� θ ��� 
	 
�� �	��	���� ��	���
� 	� 
�� ��


����� 
����
���$

Sab(θ)Sab(−θ) = 1

������ 
��	 ������� Sab(0) = ±1�� �	� 
 ������� �	����( �
����
� 	�� �
�

δab(θ
∗) = δab(θ)

∗

)	
�# 
�

 ��
� 
�� �	����
�	� 
�	�� 
�� ��
�
�� ������� Ik �
� �� �	
� ��
���� 
��

�
�����
����� ��	 �
�
���� �
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��� AaAa �
�� �����
��� �
�����
���� ��
�
��

�������# ���
��� 
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�
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�� �����	��� �
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��� �Saa(0) = −1� �� 
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 �	�� S = 1
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2 ������
��� T (z) ≡ Tzz(z) 	�� T̄ (z̄) ≡ Tz̄z̄(z̄)�

T (z) �	" �
 
#�	��
� ���� ��� ,	��
����
��
� 	����� z = 0 	�

T (z) =
∑
n∈N

z−n−2Ln

��
 ��
�	���� Ln �	����" ��
 3��	���� 	
�
��	+

[Ln, Lm] = (n − m)Ln+m +
c
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(n3 − n)δn+m,0
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��$
� �" ��� ������
 ���
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�� p 	�� q 	�� ��
 �
���	
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 �� ���
� �"

c = 1 − 6(p − q)2

pq
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�
 ��
���
� 	�
 �� 	������� ����	�" 1��
�
 	�
 �� �
�	���
����� ��	�
� �� ��
 ��
�����2

�� q = p + 1�

����� ��� �� 	 
����
��
	� ��������

5 �"
���
� ���� ��	��	
 �������
�
��
 L �	� �
 �	��
� �� ��
 ����

# �
	�
 �" ��


�������	
 ��	������	����

z = exp
(2π

L
(τ − ix)

)
z̄ = exp

(2π

L
(τ + ix)

)
1���62
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H =

∫ L

0

dx Tττ (x, τ = 0) =
2π

L

(
L0 + L̄0 − c

12

)
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�
��� ��	��� 
�� �
�!��
������ 
� �
��� !�

H =
⊕

h

Vh ⊗ V̄h ����"�

����� Vh �V̄h� 	���
�� 
�� 
���	��
!�� ��������
�
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A = ACFT +
∑

j

gj

∫
d2x Φj(x)

����� ACFT 
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�� ��

�� �� ���� $(� ��	 Φj ��� 
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A = ACFT + g

∫
d2x Φ(x) ����.�
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� 	�� ���� ���
���� �
�� ��
 !�	�
 ��� �� Sab(θ)� $�� ��


�
�	��� � ���� !���
���
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 �
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����� ��� ����	
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����

��
 ���2����	�� 
���
	� 
��
� M2,5 �	� �
���	� ��	��
 c = −22/5 	�� 	 �����


��������	� !��
	�� 0
�� Φ ���� ��	���� �
����� Δ = Δ̄ = −1/5� ��
 0
�� Φ �� ���
	��,
�

�� ��	� �� �	� ��
  �������� �!
�	��� !������ 
)!	�����7

Φ(z, z̄)Φ(0, 0) = C(zz̄)1/5Φ(0, 0) + (zz̄)2/5
I + . . . 3���84
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 I �� ��
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����� �!
�	��� 	�� ��
 ���� ��������	� ��������
 �����	�� ��

C = 1.911312699 · · · × i
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 � ��
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HLY =
⊕

h=0,−1/5

Vh ⊗ V̄h
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�
 Vh 3V̄h4 �
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� ��
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����"�
 �
!�
�
��	���� � ��
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���� h�
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 �%2������	� ;
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HSLY = HCFT + iλ

∫ L

0

dxΦ(0, x) 3��-<4

��
�
 HCFT �� ��
 ��� ��
	� 9	
������	�� ���� ��
��� �� �
�	�
� �� ��
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�� !��� �	

 m ��	�

�	� �� 
��	��� �� ��� �������� ���
�	�� 	
 ��"�

λ = 0.09704845636 · · · × m12/5 #����$

	�� ��� ���% ���
�� ���
��� �
 ����� ��

B = −
√

3

12
m2 #����$

&�� S��	�
�' 
�	�
 ��"�

SLY (θ) =
sinh θ + i sin 2π

3

sinh θ − i sin 2π
3

#���"$
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����� ����

 	
 	 ����� 
�	�� �� ��
��� 	� θ = 2πi/3 !��� ��� ��
����	
�����

�������� ����� ��

Γ2 = −2
√

3

!��
� ��� ���	���� 
��� �
 ��� �� ��� ��������	
��� �� ��� ������ (���
���� �� ��� ����

������� ���
������ �� 
������ ��� !� ��)�� ��� ��	
��
���� ��	 ��� 
��	����

SLY (θ) = −eiδ(θ) ������

�� 	
�	 δ(0) = 0�

����� ��� �	
��
����� 
� � ������
� ����
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 ���	���� ����� ���
� �� 	

 �
�����
� �� 	

 ���	��� ��������� �
�� 	

��� M3,4 ��	


c = 1/2 ��� 
�� 	�� ���	������ ������� �
���� 	

 ���� ��
��	�� σ ��	
 Δσ = Δ̄σ = 1/16

��� 	

 
�
��� �
���	� ε ��	
 Δε = Δ̄ε = 1/2� �

 ����
	�� �
�	����	���

H = HI
0 + h

∫ L

0

dxσ(0, x)

�� ������
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����� ��
� ��	 �
�
�� �� 	

 ���� �� 	

 
 	
���� ����
	�� �
�� h��

�

 ��
�	��� ��� 	

 
 ��	 S ��	�� �� �
�����
� �� 	
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������ 	
��
 ����� �������� ����� ��������� Ai, i = 1, . . . , 8 ���� ���� ������ ����� ��

m2 = 2m1 cos
π

5

m3 = 2m1 cos
π

30

m4 = 2m2 cos
7π

30

m5 = 2m2 cos
2π

15

m6 = 2m2 cos
π

30

m7 = 2m4 cos
π

5

m8 = 2m5 cos
π

5

��� ��� ���� ��� �������� �� 	
��

m1 = (4.40490857 . . . )|h|8/15

��

h = κhm
15/8
1 , κh = 0.06203236 . . . ������

 �� �!�" ������ ������� �� ����� ��

B = −0.06172858982 · · · × m2
1 ����#�

$� ���� %!��� ��� ���������� ����� ���&� �& ��� A1 ���������'

S11(θ) =

{
1

15

}
θ

{
1

3

}
θ

{
2

5

}
θ

, {x}θ =
sinh θ + i sin πx

sinh θ − i sin πx
������

(�� ����� ������!��� Sab ��� ���������� �� ��� S �����) ��������� 	
��* ��� ���� ��� ��

���� ����� �� ���� �& ��� A1 − A2 ����������
 ����� ��"�� ��� &���

S12(θ) =

{
1

5

}
θ

{
4

15

}
θ

{
2

5

}
θ

{
7

15

}
θ

+!� �������� �� ��� ,���� ����� �� ��������� �� ��� &��� ���� ���� �� ��� �������� �����

�� ����� &��� &������ �& �� �������� ��-����� &��� ��� ����!����� ��� ��� "����
 ��� ����

��� ������!� ��� ��������� ���!��!�� �� ������ ������)
 ���� �& ����� ������ �� ��������

���� ��� �!�� ������� ���� �& ������� .��/0��� ������

����� �����	 
��	 
�	
���� ���� ��������� ��	�� ��	��� � ��	

����
��	� ��������� ���
	 ������
�

.�� !� ���!�� ���� ��� ��1���� ���!�� ���������� ������ ����������� �� � ����!����

���&����� ������ ��1��� �� ��� ������

A = ACFT + g

∫
d2x Φ(x) ����
�
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H = HCFT + 2πg
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2π

L

)ΔΦ−1

Φ(0, 0)  ��!"#
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jk/2, θ
′ − iūj
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dθk
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∑
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pk = mik sinh θk , Ek = mik cosh θk



�� ������� �	 
����� 
����� 
��� 
������ � �������� �������

��� ��� ����	�� �	
 �	�����
 �� ��� ��������
� �	 �	��� ������

pk =
2πIk

L

�	
 �� �
 ������	��	 ��
 � ��	
����	�� �� ��� ���

�	 
�������	 �������� ��� �� ! ����

∑
I1,...In

g

(
2πI1

L
, . . . ,

2πIn

L

)
=

(
L

2π

)n
(

n∏
k=1

∫ ∞
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i1...in(θ̃1, . . . , θ̃n) =

n∏
k=1
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ρi1...in(θ1, . . . , θn) = detJ (n)(θ1, . . . , θn)i1...in ������

J (n)
kl (θ1, . . . , θn)i1...in =

∂Qk(θ1, . . . , θn)i1...in

∂θl
, k, l = 1, . . . , n
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|{I1, . . . , In}〉i1...in,L =
1√

ρi1...in(θ̃1, . . . , θ̃n)
|θ̃1, . . . , θ̃n〉i1...in ����(�

���� �� ����� 	������ ��� ������
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�� ��� �� ���� �� ��� ��������� �� ρi1...in(θ1, . . . , θn) �� �� ����������� �� �������� ���
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ρi(θ) = EiL ���� Ei = mi cosh(θ)
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J (2)(θ1, θ2)i1i2 =

(
E1L + ϕi1i2(θ1 − θ2) −ϕi1i2(θ1 − θ2)

−ϕi1i2(θ1 − θ2) E2L + ϕi1i2(θ1 − θ2)

)

����� �� ���� ��� �
!!����� �������� ϕi1i2(θ) = d/dθ δi1i2(θ) ��� E1,2 = mi1,2 cosh(θ1,2)�
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ρi1i2(θ1, θ2) = E1E2L
2 + (E1 + E2)L ϕi1i2(θ1 − θ2)
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������% -���  �.� �� ��� ���� ����� ���� �� � ������ �� �/ ���  ������ O(Ln) ���! �� ���
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����'� ����� 	� �� ��������
 ��� �� ��
�� ��� ���	
	�	�� 	��	
� ��� 	� �	�� ������ ����

��
��� ���
�	�� FO
n � (	������ ��
��	��� ��� ������
 �� S�����	) ��
���� �

��
	�� �� ���

�)
����� �)	�� ���$�& ��	
� ��� 	�
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 ������� *�
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���� �����������	�� ���+��& ��� �� ��� ����	
���� ����	�����
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 ���� ����� -� ��
�	�� $�� �� ���� ���� �����	��� �	.� ����'� ���� ������

�� ��
������
 �� ���
 ���� �� �� ����	
���� 	��������� ����� ��
�����

/� ���� �����.& ���� ����� ��� ��  �	�� ������ ������ ��� ��	
� ��� ,������ �������

�� ��� ��� �� ��� ����	
��� ��� 	
���	
��� ��� ������ 	� ����

Sii(0) = −1

��	�� ��� �)
���	�� �� ���� �����	
 �����	��� ��
 �� ��� ���� ���
�	�� 
��������
	�� ��

��� �������	��� �����	�� �� ��� 0�����1��� �,���	��� ������ ���	����� /� 
�� �)����� ��	�

	� ����� �� ���� ��
���� �� �������2

〈0|O(0, 0)|{I1, I2, . . . , In}〉i1...in,L = 0

�������� Ik = Il ��
 ik = il ��� ���� k ��
 l� 3�	�� ��	� 
������	�� �� 
�� ������ ����

��� ������	�� 	� ����4� ���� ���� ��� ����	��� ������ �� ��� ,������ ������� �	�����

�)
���	���� %��� ���� ���� 	� ��	� 
��� ��� �����	�� ����'� 
�� �� ��	���	��
 �	�
� 
�� ��

��� �)
����� �)	�� ���$�

FO
n (θ̃1, . . . , θ̃n)i1...in = 0

�������� θ̃k = θ̃l ��
 ik = il ��� ���� k ��
 l�

����� ������� 	
�� 	��

�� ��
�
�
 ����
����
�� ������

3�	�� ��� 
����	�� ������� �����& �,�� ����5� ������ �� �� 
������
� ��� ������� ����

��
��� ���
�	��� ����� 	�  �	�� ������ �� �������2

j1...jm
〈{I ′

1, . . . , I
′
m}|O(0, 0)|{I1, . . . , In}〉i1...in,L =

FO
m+n(θ̃′m + iπ, . . . , θ̃′1 + iπ, θ̃1, . . . , θ̃n)jm...j1i1...in√

ρi1...in(θ̃1, . . . , θ̃n)ρj1...jm
(θ̃′1, . . . , θ̃

′
m)

+ O(e−μL) ����"�
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�� ��	 
�� �
�
	� ��	 ��	

����% ��	� n = m �
�

{j1 . . . jm} = {i1 . . . in}
{I ′

1, . . . , I
′
m} = {I1, . . . , In}

�
 ����� ���	 ��� 
�	 ������
�	� ��	 �������	 	!"��� ��	 ����"����
 �� �"�� ��
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 ��#�
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� �
�
	� ��	 ����
� ����	
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�
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�	 ���
 *	�� �	�
��% ��	�

{I1, . . . , In} ≡ {−In, . . . ,−I1}
{I ′

1, . . . , I
′
m} ≡ {−I ′

m, . . . ,−I ′
1}
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 �������

���� �� ����� 	��	 ��	� 	���� �� ����� 	���� ������ �� O(e−μL) ����� μ �� ���� �������

	����	�� ���� ����� �� 	�� 	������

 
� ��
 ��� !"�����#� $
�	� ������ �%��
���
 �
	������� �
 &'( 	� �	��� $
�	� ��
�

�)��	� 	� 	�� �������	��� *������
+ 	� !"�����#� ������$��	��
 �� $
�	� ������ ,��
��


+������ 	�� ��)���
�� ��	���
 	�� $
�	� �
� �
$
�	� ������ �������	��
 ��
�	��
 �� +���


�� ��
	����	��
� ���� +����� �� 
�
	������ +��+� ������ ���� +����� �
 ����� ���� ������

+�	�� ��� � 
�

��� ��
��
+ 
����� ����
� 	�� ����
���� -��� +����� ������ ����� �


�%��
�
	��� ����������
 ���	�� �
 L� ����� �%��
�
	 ��
 �� ��	����
�� �� �
���
�
+ 	��

��
+�����	��� �� 	�� �����+�	��� �
� ���	�% ��
�	��
� �
	���
+ 	�� �%�������
�� .
 � �������

	������ ��� ���� ��
+�����	��� ��� ���� ���� 	�� ���� �%�� �� 	�� /�
����	�� ���������� �
�

	�� �
� ��	� 	�� �������	 ���+�
��� ���	 ��	����
�� μ� .	 	��
� ��	 	��	 	�� ����� �� μ ��

��	����
�� �� 	�� �%��	 ���� ����	��� �� 	�� ���	����� �
� ���� 	�� ���
� �	�	� �����
�

��	���
 	��� &0� �'(� 1�������� �	 �� �
�������� ����� ���
� 	��	 �	 �� �
����
��
	 �� 	��

�������	��
 ��
�	��
 ��
�������� .
 +�
���� μ ≤ m ����� m �� 	�� ��+�	��	 ���	���� ����

�	�� ���� +�� �� 	�� 	������� ������� 	���� ��� ������ ������	��
� �
 ����� 	�� ��+�	��	

���	���� ����� ����
� 	�� $
�	� ������ L� �
� �� 	�� ���� ����� ���� �� 	�� ��������
��
+

�%��	 �����+�	�� �� ������ �����
	� 2�
	����	��
� ���� ���� ���	���� ����� 	� 	�� ������

�%���	�	��
 ����� ��� ������	�� �
 ������	��
 3�� ���� � +�������� �������
	�	��
 ��� $+���

3�3�� ����� �
 �%����� �� � $
�	� ������ ������	��
 ��������
��
+ 	� � ���
� �	�	� �����


�� ��������� μ�	���� �� ��������� �
 ������	��
 3���� �$+��� 3�4�� 1�� μ�	���� �������	��

	� ���		���
+ �	�	�� �
� ���� ���	��� ��� �
���
�� �
 ����	�� '�

1�� ��	���	��


〈O(τ, 0)O′(0)〉 − 〈O(τ, 0)O′(0)〉L ∼ O(e−μL) ����5�

�� �
 ���	 � ��������	�� �
�� /�6�
+ ��� �� 	�� 7�������
 �
�����
�� �� 	�� 	����� �
�

��������
+ 	�� ��	�	��
 (τ, x) → (−x, τ)� 	�� $
�	����
� �)��	� �
 	�� ����	��
 ����� ��


�� ��	��
�� �� �������	�
+ $
�	� 	������	��� ������	��
� 	� 	�� �������	��
� ��
�	��
 ��	�

	�� 	������	��� +���
 �� T = 1/L� .
 ���	��
 0�3 �� ��
����� ���� ��
	����	��
�8 	���

��� �� ����� e−mL� ��� μ = m ��	� m ���
+ 	�� ���� +�� �� 	�� 	������ 1�� ����
�� ��

������	��
 	���� ��	� μ < m ��
 ���� �� �%����
�� �� 	�� ���	� 	��	 �	 �� ���������� 	�

���� � ������
	 $
�	� ������ ���+��� ��������� �
�����
+ � ���	���� �����
� ����� �����

����� 	�� ����������
 ���	�� e−μL�

����
+ ��������� $
�	� ��
� �)��	� 	� 	�� 	�� �������	��� �� 
�� ����� 	��	 	�� ����

���	�
�	��
 ��������� �
	������� ����� 	���� ����� ������ �� e−μ′L� ����� �
 ���	 μ′ = μ�

9����� 	��	 	�� :�����
 ������� +���� 	�� ������	� ��� �
 	���� �� � ,������ 	��
�����;

	�� �����
+ 	��� �� 	�� ,������ 	��
����� �� 	�� �����
� ������	�� �	 ���� 
����� 0

����� 	�� �
	�+���� �
� 	�� ������	��
� ��� ��	����
�� �� 	�� ����� �� 	�� ,������ 	��
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h(p1, . . . , pn) =
∑
i1...in

ρi1...in(θ1, . . . , θn)−1FO
n (θ1, θ2, . . . , θn)i1...inFO′

n (θ1, θ2, . . . , θn)+
i1...in

×

exp

(
−r

n∑
k=1

mik cosh θk

)
������

	���� pk = mik sinh θk ��� ��� 
�
����
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��� ������� ���� ��� ��	��#

h̃(κ1, . . . , κn) ∼ e−μ′|κ|

��� ����� κ� $� � ������� ��������%����� ���������� �� ����� �� ����� e−μ′L� ��� ���
������

�&������ μ′ �� ��� !������ ��������
 ��� �� ��������� �����
���� �� �������� ��� �������

�� ��� �������� ��������
 ��� �� ��
�� �� ��� �������� �� ��� ����������� ������� �� ��� ����
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����
 ��
��� ����� �� ����������� ��� ��������� ���� '(����� ���� �� )*+�� ,������������

�� ��� ���
 ������� ��� ��
�� �� ��� ��
� �������� ��������� �� ���� �� ��� �
��������

	���� �����
��� ��� �&������ μ �� �-�� ���.�� ���� 	�  �� ���� μ′ = μ�

���� ����
��� �� /��� �� �������
� ���������� �������� �� ��� �� 
��� � ������ 
���

�������� !���� �� ���� 	� 
��� �&�
��� 	������ ��� �����
����� ρi1...in(θ1, . . . , θn) ��� ��
�

��� %����� 0� ��� ��	��� �� 	������ �� ��� ���


ρi1...in(θ1, . . . , θn) =

(
n∏

k=1

mikL cosh θk

)
(1 + O(1/L))

��� ������� ������ ��� ���� �� %��� 	��� θk = iπ
2
��� ��
� k� 	���� ����������� ��

pk = imk� ��
��� μ′ = mk �� ���� ���� �� ��� ������� ������������ ���� ��
�� � ����������

e−mkL

	���� �� ��� ��
� �� ��� ������������ �� �� �������� ���������� 	���� ������ ���  ����


���
�� ��� ���� ����������� ��� ������� �������� �� ��� e−μL ���
 �� ���.�� $������ ������

������ �� ���� ��
� ����������� �������� δ(θ) �� ��� O(1/L) ���
� ����������� � ����� ���
�

	���� �������� ��� 1/L ����������� !�� ���� ��� ����
��� 
��� �� ����� �� � ������������

��� ���� ��������� �� �-�� �1�2� 	� ��� 	����

δ(θ) ∼ log(θ − u) ∼ O(L)

	���� u �� ��� �������� �� ��� ����������� �� ��� ������������ ���� ��-����� ���� ��� ������

������ �� ���������� �&����������� ����� ��� � �������� �� ��� 
���
� L�� ��� ��� ���������
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	 ���	���� ��	 �������� ���� ! �
 ��� �" �� ��	 ��#����	
 �� ��	 ������

n∏
k=1

exp(−mikr cosh θk)

����� ��� ���� 
� ����
 �� ��� 
��	 k

�e cosh θk < 0

��� ���� �	$���	


�m θk >
π

2

����� �
 ���	��� �����	� ���� ��	 �	�� ���	���� ������ ��	� ��	 ��
����� �� ��	 ��%
�	��

�����
���� 
��
��������

����� �����	
��� 

�� �� ����� 	�����

�
 ��� �
 �	 ����� ��	 ���� 	���� �	
��� �� ��	 ���	�����	 ��
 ������	� �� &'() ���

���	�	��	���� �� &'*� '')� ��	�	 ��	 ������
 ���
��	�	� ��	 #���	 �����	 ���� ������
 ��

��	 
���%#	�� ��	����� σ �� ��	 +
��
%���	� �� ,	�� 	��	���� #	��� ������
� ��	 ���	� ��

$�	
���� �
 � ��		 ��	��� ��� ��� �	 �	
����	� �� �	��
 �� ��		 ��

��	 -�.����� �	�����
!�

�� �
 ���	�	
���
 �� ������	 ��	 �	
���
 ���� ��	 
	�	��� ���	 ��	
	��	� �� ��	 ��	����



��
	�����
� /� ��	 ����� ���
 ���#��
 ��� �����������
� /� ��	 ���	� ����� �� ��
�� �	

�
	� �� �����	� ���� �
 � 
������
 ����� �� 
���� 
��%�	����
 	����	����� ����	�����
 ����

��	 �	����
 �	��� 
		 
	����� '�*!�

0�	 1���	�� 
���	 �� ��	 ��	��� ���
�
�
 �� ��� 
	����
2 ��	 3	�	�%4�����, �34! ���

��	 5����� �5! 
	����
� 0�	 �	������� #	��
 ��	 �����	������ �� �	������� �	
�	����	���

�	����
 �� ��	 $�����,����� ���	 ��� ��	 �������	 ���	���

p = m sinh(θ) =
2π

L
k k ∈ N +

1

2
�34! ����6!

p = m sinh(θ) =
2π

L
n n ∈ N �5! �����!

-����%�������	 
���	
 ��	 �	���	� ��

|k1, . . . , kN〉�� ��� |n1, . . . , nN〉�
��� 
���	
 �� ��	 34 ��� 5 
	����
� �	
�	����	��� ��� 
��������� �	 ���� ���
��	� ��	 T > Tc

���
	 �� ��	 ��	���� ��	�	 
���%7�� 
���	��� �
 ������	�� +� ���
 ���
	 ��	 �����	�

	���������
 ���	 �� 	�	� ����	� �� �������	
 �� ���� ��	 34 ��� 5 
	����
�



���� ������ �	
��� �	
� ����	
� ����	�� ����	������� ������ ��

��� ���	 
����

� ��� 	
	���	����	� ��
��� �����	
� 
	�� ��
���	 �
�
�� 
� ������	


���

��� ��� �����
 �
� � ��	���� �	�
� �
���� ��
��� �����	
 ����� ���� �� � �	 !"#$%

��〈k1, k2, · · · , kK |σ(0, 0)|n1, n2, · · · , nN〉� =

S(L)
K∏

j=1

g̃(θkj
)

N∏
i=1

g(θni
) FK,N(θk1 , · · · θkK

|θn1, · · · , θnN
) , ����&%

����� θn �θk% �
�	� �
� 
�� �	�
����'� ������
��� ����
�� 

 
�� �	
����� n �������	
����� k%

�� 
�� ����
�
	� ���� %������%� FK,N �� 
�� ���	����� �
�� ���

� �	 �	�	�
������� !(($) 
��

�������
 �
�� 
� 
��� ��	�
�
	 �� 	

 	����� �
� 
�� �����	
 ����
���� ��� 
������ ���

�

S(L) �� ����	 ��

S(L) = exp

{
(mL)2

2

∫∫ ∞

−∞

dθ1dθ2

(2π)2

sinh θ1 sinh θ2

sinh(mL cosh θ1) sinh(mL cosh θ2)
log

∣∣∣∣coth
θ1 − θ2

2

∣∣∣∣
}

����"%

��� �
��	
�������	��	
 ��� ���

�� g �	� g̃ ���

g(θ) = eκ(θ)/
√

mL cosh θ , g̃(θ) = e−κ(θ)/
√

mL cosh θ ����#%

�����

κ(θ) =

∫ ∞

−∞

dθ′

2π

1

cosh(θ − θ′)
log

(
1 − e−mL cosh θ′

1 + e−mL cosh θ′

)
����*%

+
 �� �
�����
�
����� 

 ��
�, 
��
 
�� ����
 �����
 ����&% �
�	����� ��
� 
�� �
�����

��� (% 

 ��� 
����� �	 1/L) 
�� ���
� 
���� ��� 
� 
���� e−mL� -���
 
� ���, 
�� 	
�����'�
�
	

���

� S(L) �
�� 	

 ����	� 
	 
�� �
�� ���

� �	 ����
�
	 �	� �
� ����� L �
� ������
��

�� ����	 ��

S(L) ≈ 1 + O(e−2mL)

��� ��	�
�
	 κ(θ) ������ ���
	�	
����� ��
� L, 
�����
�� 
	� ���

g(θ) =
1√
ρ1(θ)

+ O(e−mL) g̃(θ) =
1√
ρ1(θ)

+ O(e−mL)

����� ρ1(θ) = EL = m cosh(θ)L �� 
�� 
	�����
���� ��	��
� ������� ��
� ���� ���� %�

�����%� .��	� � ���� 
��
��, 
�� ��
���
� 
� 
	�����
���� ��	��
��� ������ 
�� ���
�����
����

��	��
��� �	
���	� ��� (% �	� 
	� ��� �	����

��〈k1, k2, · · · , kK |σ(0, 0)|n1, n2, · · · , nN〉�
=

FK,N(θk1 , · · · θkK
|θn1 , · · · , θnN

)√
ρK(θk1 , · · · θkK

)ρN (θn1 , · · · , θnN
)

+O(e−mL)

+
 ��� ��
�	 �	 ����& 
�� �����	� �
����
�
	 
��� 

 ��� (% �� �
 �
�
 
� 
���� e−μL

����� μ ≤ m ��
� m ���	� 
�� ���� 
� 
�� ����
��
 ���
����� +	 ����
�� " �� ��
� 
��



�� �����	� 
��� �
�� μ�
���% �� �
		��
�� ��
� 
�� �		�� �
���
��� 
� 
�� ���
����� �	���



�� ������� �	 
����� 
����� 
��� 
������ � �������� �������

��� ������	
� �	���
�	�� �� �
��� �� ���� ����	��� μ < m� ���	�
� �� ��� �	����� �
��

��� ��

��� ���������
� ��		������ �� ���� �� �	
�	 e−mL� ��� 	�
��� ��	 ���� �� �������

��� ��
�� �� �������� �� 
 �	�� ����	�� ���	� 
	� �� �
	����� �������� ���	���	� �� ���� �
��

���	� �� �� μ���	� �	������

��� �����	�
 ���
�� �
���	��

�� ���� ������� �� �����
�	 
�
���
� �
�	�� �������� �� ��� ��	�

i1...in〈{I1 . . . In}|Ψ|{I1 . . . In}〉i1...in,L

��	�� �� 
�	� � ��� !	�� ��� "n = 1 
�
 n = 2# �
��� ����� ��	� �
���	 ��	��	�
����

����	� $%&'� (���� �� ����� 	���	��� 	������ �� ���)����	� ��� ����	
� ��	���
 �� *���*�

��� 


�����
� ����������� 
	� 
� ���
 �� ��� 
��������� �� ��	 	������� �� *���� ��

��
���� ��� ���������� ������� ��� � 
��
���� �����
� �� ��� ��!����  ����� 
�
���
�

��	� �
���	�� �� *���+ �� �	� � ��
� 
 ���)����	� �

� �� ,
���	 �� $�&' ��
���� ������
��

���� ��	��

����� ���� 	
���� 
������
���� ������ 
�� ������������ �������

�������

�� ��� �	
����	- �� �����	�
� ��	��	�
���� ����	�� �� �����
�	 
 ��
�� ���� ���


�����

A(μ, λ) = ACFT − μ

∫
dtdxΦ(t, x) − λ

∫
dtdxΨ(t, x) "*�*.#

���� ��
� �� ��� 
������ �� ��� �������� λ� ��� ��
�� 
�!��
 �� ��� 
����� A(μ, λ = 0) ��

�����	
���� ��� ��� ��	��	���� !��
� 
	� �
-�� 
� ��
���� !��
� �� ��� ���	
 ����� ��������

�����	�
� !��
 ����	�� ���� ����/	���� �����	�
� ������� hΦ = h̄Φ < 1 
�
 hΨ = h̄Ψ < 1�

���� ���� 
	� 	��� 
�� 
�
 �
 � 0�	� �����	�
� ����� 	�������� �� 
 1�	���0��� 
	�
�� !��


����	��

��� �����	
��� ����� A(μ, λ = 0) �� �������
 �� 
�!�� 
 �
��� � �����	��� ����

��� ��
�� ��� �� ��� 
����������� �������� μ� ��� ��
�� �����	�� �� ���� �
�� �������� ��

�
��� � �
	������� ��	���� 
 �
���	�0�
 ��
���	��� ����	� ���� -���� S �
�	�� 
������
���


�
 ��
	
���	�0�
 �� 
 �
�� ��
�� M "����� �� �
-� 
� ��� �
�� �� ��� ���

����
�

�
	����� ����	
���� ��� ������	
�#� ����� �� 	��
��
 �� ��� �������� μ  �
 ��� �
�� �
�

	��
����

μ = κM2−2hΦ

���	� κ �� 
 "������	��	�
�� �# 
������������ �����
���

,�������� �� 
 �����
 ��
����
��� �������� λ �� ����	
� ������ �����	
������� 
���	��

��� �
�� �����	�� 
�
 ��� S �
�	��� 
�
 �� �
	�����
	 
����� 
��
� �� ��� �
	������ �����



���� �����	�
 ���
�� �
���	�� ��

��� ����	� �� �
� ����
���	� ������ ��� ��� �� �������
 �
� �������� �� �
� ����	 �� �
�

���� ������ ������������ �
���� �������� �� ����� ��� �� ������ �
� ���� ������� �� �
�

�������� Ψ �� �
� λ = 0 �
���� ��

FΨ
n (θ1, . . . , θn)i1...in

= 〈0|Ψ(0, 0)|θ1 . . . θn〉λ=0
i1...in

����
 ������������ �
���� �� ���� ����� �� λ� �
� ��		����
  ��������� ��� �� ��	��	����

����!

�� "
� #����� ����
� ������� �� �
����� �� �� ������

δEvac = λ 〈0|Ψ |0〉λ=0 . $%�%&'

%� "
� ���� $� �����' �����( M2
ab 
��� � ����������

δM2
ab = 2λFΨ

2 (iπ , 0)ab̄ δma,mb
$%�%�'

$�
��� �
� ��� ������� �
� ����������	�' ��������
 �
�� �
� ���
���	 ���� �����(

��� ���
���	 ��� �� �
� ���� M2
ab = m2

aδab .

�� "
� ���������
 ���	����� ��� �
� ���� ������	� ������� a + b → c + d �� ������� ��

δScd
ab (θ, λ) = −iλ

FΨ
4 (iπ, θ + iπ, 0, θ)c̄d̄ab

mamb sinh θ
, θ = θa − θb . $%��)'

*� �� ��������� �� ������ �
�� �
� ���� ������ ���	����� �� �
� ���#� �(�������� ����

�� ������ �� �
� ��+��		�� ,���������- �#�	������

lim
ε→0

FΨ
4 (iπ + ε, θ + iπ + ε, 0, θ)c̄d̄ab

$��� � �� $%��.' ��	��'� *� �� �	�� ��������� �� /��� �� ���� �
�� � �� $%��)' 
�#��

�
� #�������� �� �
� ���������
 �
��� �
�� �
� ������+��+���� ����
� $��� �
� 0��+

��	���� #�����	� s' �� /��� �(�� ����� "
�������� �� ����� �� �������� #�����	��� �
��

#�������� ����������� �� �
� ��		����
!

δScd
ab (θ, λ) =

∂Scd
ab (θ, λ = 0)

∂θ
δθ + λ

∂Scd
ab (θ, λ)

∂λ

∣∣∣∣
λ=0

�
���

δθ = −maδma + maδma + (mbδma + maδmb) cosh θ

mamb sinh θ

�� �
� �
��� �� �
� �������� #�����	� ������� �� �
� ���� ����������� 
�#�� �� � ��

$%�%�'�
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�� ����� 	� 
����
��� ����� ��� �� �	 �	�

���� �� �����

�� 
�� ��� ��� ��	�� ������� �	 
��
����� ����	���  ����! ��� ���� ���	����� 	��


����
��� "	� �� 
��
��� �� 
������ ��� ��������	� �	� � ���	�� ���� � ������ 
����
�� �
�
����

#�� �� ����� ���� ��� 	��$
����
�� 
���� %�� �������	� 	� ��� ������ 	� � �����	���� 	��$


����
�� ����� ���� ���
�
� �	 ��� ��
�� ����� ��� &���� �	�� � 
����
��  ���� 
�� ��

�!
������ �� ��� ��'����
� ������� ��� &��� 	���� 
����������� ������� �	� ��� 	��$
����
��

��� ��
�� ������ �� �	�� � L(

Δm(L) = λL (〈{0}|Ψ|{0}〉L − 〈0|Ψ|0〉L) ����)�

*� ��� 	���� ����� ����� #+�
���,� ������� �-� �� 	��� ��'��� ��	 ��� ��&���� �	�� �  ���

�� ��� � �!
	��������� ������� ���� L� .���� �/�� ������

Δm(L) =
λ

m
FΨ(iπ, 0) + O

(
e−μL

)
0� ������� ��� ��
�� �!
�
����	� ����� ��
����� 	��� 
	���
��	�� ������� 	' �!
	���������

���� L� %�����	�� �� 	�����

〈{0}|Ψ|{0}〉L =
1

mL

(
FΨ(iπ, 0) + mL〈0|Ψ|0〉)+ . . .

���� ��� ����
��� ���	���� �������� &���� ��1� 
	���
��	��� 2	�� ���� ��� ��
�	�mL �� 3��� ���

	��$
����
�� 4����$5��� 6�
	���� ρ1(θ) = mL cosh θ ��������� �	� � �����	���� 
����
��

θ = 0�

�� 
�� �!���� ��� ��	�� ������ �	  	���� 
����
��� �� ��� �	��	���� ���� .
 �	 ��������

&���� ��1� 
	���
��	��� ��� 	��$
����
�� ������ �� ����� ��

E(L) =
√

m2 + p2

����

p =
2πI

L

����� I �� ��� #	����1 �
�� ����
� �� ������
�� �	 ��� 
����
��  	 ���� /����� �� $

����� %�����	��

EΔE = mΔm

������� 
���������	� ���	�� �����(

ΔE = λL (〈{I}|Ψ|{I}〉L − 〈0|Ψ|0〉L)

��� �	 �� 	�����

〈{I}|Ψ|{I}〉L =
1

ρ1(θ̃)

(
FΨ(iπ, 0) + ρ1(θ̃)〈0|Ψ|0〉

)
+ . . . ������



���� �����	�
 ���
�� �
���	�� ��

�����

sinh θ̃ =
2πI

mL
⇒ ρ1(θ̃) =

√
m2L2 + 4π2I2

��� �	� 
�� 	 ��
��	� 	��

��� �� ��	�
	�� ��	���	� �����	������ 
	���� ���
���� ��

����� ���

�� ��� ������ ������ �	� �� �	��
�	��� ���
 ��� �����	�� �������	�� ��
	�����

mi1L sinh θ̃1 + δ(θ̃1 − θ̃2) = 2πI1

mi2L sinh θ̃2 + δ(θ̃2 − θ̃1) = 2πI2

	��  
� �� �����
	� ����� ��!� �����������"

E2(L) = E2pt(L) − E0(L) = mi1 cosh θ̃1 + mi2 cosh θ̃2

����� i1 	�� i2 �	��� ��� �	������ �������� #���� 	 ��
���	� �����
�$ �
� ���
���	��

�	��
�	���� ��� �	��	���� �� ���� ������ ��%������ ���� ������� �� λ �	� �� �����
����$


����  &�&'" 	��  &��(")

ΔE2(L) = λ
L

ρi1i2

(
θ̃1, θ̃2

)(FΨ
4

(
θ̃2 + iπ, θ̃1 + iπ, θ̃1, θ̃2

)
i2i1i1i2

+ mi1L cosh θ̃1F
Ψ
2 (iπ, 0)i2i2

+mi2L cosh θ̃2F
Ψ
2 (iπ, 0)i1i1

)
����� 	�� �
	�������  �
�� 	� �������	�� �	�������� θ̃i$ 
	���� mi 	�� ��� �����	������

��	�� ������� ρ2" 	�� �� ���
� �� ��� λ = 0 ������� ���� ���
�� ��������� ��� �	�� ��	�

����� 	�� ��� ��
���� ��� ��� �	��	���� �� �����	������ ������ ������) ��� �� ��� 
	�� �����

�� ��� �������
	� �	�������$ 	�� ��� ������ �� �
� �� ��� �	��	���� �� ��� �����	������ ��

��� ����� �	��$ �� 	�	���� ����  &��*" �� �	��

ΔE2(L) = λL (i1i2〈{I1, I2}|Ψ|{I1, I2}〉i1i2,L − 〈0|Ψ|0〉L)

	�� �� �� ���	�� ��� ��������� ���	����)

i1i2〈{I1, I2}|Ψ|{I1, I2}〉i1i2,L =
1

ρi1i2

(
θ̃1, θ̃2

)(FΨ
4

(
θ̃2 + iπ, θ̃1 + iπ, θ̃1, θ̃2

)
i2i1i1i2

+mi1L cosh θ̃1F
Ψ
2 (iπ, 0)i2i2

+mi2L cosh θ̃2F
Ψ
2 (iπ, 0)i1i1 + 〈0|Ψ|0〉

)
+ . . .  &���"

����� ��� �������� 	�	�� �����	�� �����
	� ����� ��!� �%����� ��� 	���� 	��

��� �� 	

�����	��!	���� �� ��� �����	���� �� ��� 
����+	
������	� ���,����� C �� #������� - ��

./0�

1� ���� �� ��
	�2 ��	� ��� ���
��  &���" ������� �� �����	������ ��	��� �� ����

������	��� 
����� ����� ��� ����	���� ���������$ 	� ��� �������	�� ��
	����� ��
	�� �	���

�� ���� �	�� .30�



�� ������� �	 
����� 
����� 
��� 
������ � �������� �������

����� ������	
���

� �
 �
���� ������ 
� ����
�	��

��� �� �	
 ����	
��� �	�� �	�� �	�������� �	����	��� ����� � �����

|{I1 . . . In}〉i1...in


� 
��	��

ρ({k1, . . . , kr})L = ρik1
...ikr

(θ̃k1 , . . . , θ̃kr
) ������


���� θ̃l� l = 1, . . . , n ��� ��� �	����	�� 	� ��� n��������� ���������� � ����	�� ���!!� ��

�	���� L 
���  ������ ���"��� I1, . . . , In ��
 ρ({k1, . . . , kr}, L) �� ��� r��������� ������

���� #��	"� 
���������� ���!$� ���	����� 	��% ��� r�������� ��"��� 1 ≤ k1 < · · · < kr ≤ n

	� ��� n ���������� ��������
 
��� ����
����� θ̃k1 , . . . , θ̃kr
� ��� �� ������� 
��	��

F({k1, . . . , kr})L = F s
2r(θ̃k1 , . . . , θ̃kr

)ik1
...ikr


����

F s
2n(θ1, . . . , θn)i1...in = lim

ε→0
FΨ

2n(θn + iπ + ε, . . . , θ1 + iπ + ε, θ1, . . . , θn)i1...inin...i1 ����$�

�� ��� �	������
 �%������� ��������	� 	� 
���	��� n��������� �����& ��������� 
���� 
�

����%'� �	�� ��	���% �� ��� ��&� ��"�����	�� (	�� ���� ��� �&�����	� ��	����% �����	��


�� ��� ��
 	� ��"�����	� ��! ������� 	��� �	 ��� �%������� ��������	� �		) ����$� ��������


������� ��� ����
����� 	� �
	 ��������� 	� ��� ���� ������� �	����
��

����
 	� ��� �"	�� �������� 
� �	�*������ ���� ��� ������� ���� �	� � 
���	��� �����&

������� ��+�� ��� �	�� 	� � ��� 	��� ��� "�������� 
�����	�� 	� ��� ��� 	� ��� n ���������

���	���
 ������
��� ��� ������� 	��� 
��� A �� ��� ����% ��� 	� ��� �	������ ��� {1, . . . , n}�)

i1...in〈{I1 . . . In}|Ψ|{I1 . . . In}〉i1...in,L =
1

ρ({1, . . . , n})L

× ����,�∑
A⊂{1,2,...n}

F(A)Lρ({1, . . . , n} \ A)L + O(e−μL)

����� �
��
��	 ����
� �	������ 
� ����� 
� �
������� �
�� ����

�
��

-��� 
� 
������ 
���	��� �����& �������� �� ����� 	� �	������
 �	�� ����	��� .��

������� 
��� "� ���
 �� ��� �	��	
��� ��"�����	� �	 ��	�� ���� � �	�*������ ��
� "% /�����

�� 0�!1 �&����% �	����
�� 
��� 	�� � �� ����,�� .	 �������% �	����	�� 
� 	��� ��� ��������

������� ��"���2 ���% ��� "� ����	��
 �����% �� ���
�
�



���� �����	�
 ���
�� �
���	�� ��

�������� 	��
��� ��������� ��� 
�������� ������ �������


��� ����	
� 	� ��

 �

��


	� 

 �	 �
�� � ��������� 	� ��� ���
��
�� 
������� 
�

�
��	��� ����
� �������
� ��� �	 ��� ��

����� 	� �
�����
��� �	��
 ����� ��� �����


	�

F2n(θ1 + iπ, θ2 + iπ, ..., θn + iπ, θn, ..., θ2, θ1)

��
�� 

 �������� �	� �
��	��� ����
 ����
��� ����
� �������
! 

 �	� ���� ��"���� #�� �


�	�

��� ��� �������
$�� ���

	�

F2n(θ1 + iπ + ε1, θ2 + iπ + ε2, ..., θn + iπ + εn, θn, ..., θ2, θ1)

%� ��
 "�
� 	�
����� 
� &'() ���� ��� 

������ ����
 	� ��

 �����


	� ��	� ���� ���
��

��� �
�
�
 εi → 0 

�������	�
��* �	�����! ��� ��� ��
��� ������
 	� ��� �
����
	� 	� ���

�
�
�! 
��� 	� ��� ���
	 	� ��� εi ���������
� ��� ����
 ���� ��� �������� 
� ��� �
�
� ���

�� ��
���� 
� ��� �	��	�
�� ������� �	��+

F2n(θ1 + iπ + ε1, θ2 + iπ + ε2, ..., θn + iπ + εn, θn, ..., θ2, θ1) = ����,�
n∏

i=1

1

εi
·

n∑
i1=1

n∑
i2=1

...

n∑
in=1

ai1i2...in(θ1, . . . , θn)εi1εi2 ...εin + . . .

����� ai1i2...in 

 � �	�������� 
������
� ���
	� 	� ���� n ��� ��� ���
�


 ���	�� ����


���� ���

� ���� ���
�� εi → 0 

�������	�
���

%� 	�� ����
	�
 �	�

�����
	�
 �� �
�� ��� 
������
� �
�
�! ��
�� 

 ��"��� �� ���
��

��� εi �-���+

F s
2n(θ1, θ2, ..., θn) = lim

ε→0
F2n(θ1 + iπ + ε, θ2 + iπ + ε, ..., θn + iπ + ε, θn, ..., θ2, θ1)

%� 

 
������
� 
� ��� ��� ���
����
 θ1, . . . , θn� ����� 

 ��	���� �������
	� �
�� ��

 
�� 

����� ��	�����! ������ ��� 
	 ������ �	������� �	�� ����	�! ��
�� 

 ��"��� �
 ��� εi


���������� ���� 	� �-�� ����,�! 
��� ��� ���� ��
�� �	�
 �	� �
����� �������� ��� 	� ���

εi 

 ����� �	 $��	+

F c
2n(θ1, θ2, ..., θn) = n! a12...n ����.�

����� ��� ���������� 	� ��� ����	� n! 

 

���� ��� �	 ��� ��������
	�
 	� ��� εi�

��� �������� ��� n ≤ 3

/� �	� 
���� 	�� ��� �����
	� ������� ��� 
������
� ��� �	������� �������
	�
 �	�

n = 1! 2 ��� 3�

��� n = 1 ��
� 

 

����! 

��� ��� ��	 ����
��� �	�� ����	� F2(θ1, θ2) ��
 �	 

������ 


�
�
 �� θ1 = θ2 + iπ ��� ������	��

F s
2 (θ) = F c

2 (θ) = F2(iπ, 0) ����'�



�� ������� �	 
����� 
����� 
��� 
������ � �������� �������

�� �� ���	
	��	�� �� �
	 ��
�����	� ��� ���� �	 �	���	� F c
2 �� �
	 �	��	��

��� n = 2 �	 �		� �� ������	�

F4(θ1 + iπ + ε1, θ2 + iπ + ε2, θ2, θ1) ≈ a11ε
2
1 + 2a12ε1ε2 + a22ε

2
2

ε1ε2
������

�
��
 ���	�

F s
4 (θ1, θ2) = a11 + 2a12 + a22

F c
4 (θ1, θ2) = 2a12

�
	 �	� � a11 ��� a22 ��� �	 	!
�	��	� ����� �
	 ���"
������	 ��� ������� ��#��� ��

��$���	�� ��% ��� $!	� ε2 �= 0

Res
ε1=0

F4(θ1 + iπ + ε1, θ2 + iπ + ε2, θ2, θ1) = a22ε2

�
	�	�� ��������� �� �����

Res
ε1=0

F4(θ1+iπ+ε1, θ2+iπ+ε2, θ2, θ1) = i (1 − S(θ1 − θ2)S(θ1 − θ2 − iπ − ε2))F2(θ2+iπ+ε2, θ2)

�� $��� ���	� �� ε2

S(θ1 − θ2 − iπ − ε2) = S(θ2 − θ1 + ε2) = S(θ2 − θ1)(1 + iϕ(θ2 − θ1)ε2 + . . . )

�
	�	

ϕ(θ) = −i
d

dθ
log S(θ)

�� �
	 �	�������	 �� �
	 ���"
������	 

��	 �
��� �	$�	� �	���	� �
	�	���	 �	 ������

a22 = ϕ(θ2 − θ1)F
c
2

��� �� �����&

a11 = ϕ(θ1 − θ2)F
c
2

��� ��

F s
4 (θ1, θ2) = F c

4 (θ1, θ2) + 2ϕ(θ1 − θ2)F2(iπ, 0) ����'�

�� �
	 ���	 �� �
	 ����	 �� �
	 	�	��&" � 	��� �	���� Θ �
	 ��������� 	!
�	������ ��	

#���� (��)

FΘ
2 = 2πm2

FΘ,s
4 = 8πm2ϕ(θ1 − θ2) cosh2

(
θ1 − θ2

2

)
FΘ,c

4 = 4πm2ϕ(θ1 − θ2) cosh(θ1 − θ2)

��� �
	& ��	 �� ���		 	�� ���
 ����'��

��� n = 3% � 
���	���	 �� ���� �� �
	 ����	 ���	� �
	 ��������� �	������*

F s
6 (θ1, θ2, θ3) = F c

6 (θ1, θ2, θ3) + [F c
4 (θ1, θ2)(ϕ(θ1 − θ3) + ϕ(θ2 − θ3)) + permutations]

+3F c
2 [ϕ(θ1 − θ2)ϕ(θ1 − θ3) + permutations] ������

�
	�	 �	 � ���	� �	� � �
�� ���& ��+	� �& 
	� ������� �� �
	 
������	��



���� �����	�
 ���
�� �
���	�� ��

�������� 	��
��� ��� ��������
 ��
 ��������� ���������� �� ��� ������� ����

��� ���	 
� �� 
������ ��� ������	 �������
��

F2n(θ1, . . . , θn|ε1, . . . , εn) = F2n(θ1+iπ+ε1, θ2+iπ+ε2, ..., θn+iπ+εn, θn, ..., θ2, θ1) ������

��� �� ���� n ����

�� 	���	�� �� ��� ������� 1, 2, . . . , n ��� 	�� G �� ��� ��� �� ���

�
��
��� ������ Gi  
�� ��� ��		� 
�� �������
��!

• Gi 
� ����"	
���

• #�� ��
� ������ ����� 
� �� ���� ��� �����
�� �����

#�� �� ���� ��
�� ���� i �� j  � ��� ��� �����
�� Eij �

������� � ������ 
�� �� ���	����� �� � ��� ���� �		 ������ 
� G$  ���� ��� 
����
��"

�
�� �� � ����� Gi 
� �
��� �� ��� ��		� 
�� � � ��	��!

• ��� Ai = {a1, a2, . . . , am} �� ��� ��� �� ����

�� ����  �

� ����� ��� �� �����
��

����� 
� Gi� %�� ���� ��
��� ����

���� �� Gi 
�

F c
2m(θa1 , θa2 , . . . , θam

) ������

• #�� ��
� ���� Ejk ��� ���� ��
��� ����� ��� �� �� ��	�
�	
�� ��

εj

εk

ϕ(θj − θk)

&��� ���� �
�
� 
����� 
����
� 
�
	��$ ��� �����
� �� ��� εi/εj ��
����  
		 ����� �� ��
�
�	

���
��� ��� ��� ����� �����  
�� �� �������

����� %�� ����� ���� �� 
���
�
�� 
� n� #�� n = 1  � ����

F s
2 (θ1) = F c

2 (θ1) = F2(iπ, 0)

%�
� 
� 
� �

�����
�  
�� ��� �������$ ��
���� ��� n = 1 ����� 
� ��	� ��� ��
�
�	 �����

 �

� 
����
�� �� ����� ��� � �
��	� �����

&� ������ ���� ��� ������� 
� ���� ��� n− 1 ��� 	�� �� ���� ��� 
��� �� n ����

	���

'���
��� ��� ���
��� �� ��� ����
� �	����� ������ �� εn = 0  �
	� ����
�� �		 ��� εi (�
��

R = Res
εn=0

F2n(θ1..θn|ε1..εn)



�� ������� �	 
����� 
����� 
��� 
������ � �������� �������

��
��
��
��
��
��
��
��

1 2 ��
��
��
��
��
��
��
��

1 2 ��
��
��
��
��
��
��
��

1 2

���� ��

(a) (b) (c)

������ ��	
 ��� ��
��� �����
�� ��� n = 2

��������� �� ��� ������� ��� ��
��� ������������ �� ���� ������� 
�� ��
���� ����� ���

����� ��� ������ n �
� 
� �������� ���� 
�� �� �������� ������ ��� Rj �� ��� �� ���

��
��
�� ����� ��� �������� ���� �� Enj ��� ���� j = 1, . . . , n − 1� 
�� ��

R =

n−1∑
j=1

Rj

��� ���� �
����� 
���
���� �� Rj �� ��� ������ �� θn� ��������� �� ��� ��
���� ��� ��
 

��
�� ��
� 
�� ������ �� ��
��
�� F2(n−1)(θ1..θn−1|ε1..εn−1)� 
�
�� ���� ��� ����������
����

�
���� 
�����
��� �� ��� ���! Enj 
�� ��

Rj =
εj

εn

ϕ(θj − θn)F2(n−1)(θ1..θn−1|ε1..εn−1)


�� ������� ���� j �����

R = (ε1ϕ(θ1−θn)+ ε2ϕ(θ2−θn)+ · · ·+ εn−1ϕ(θn−1−θn))F2(n−1)(θ1..θn−1|ε1..εn−1) "��#$%

&� ����� �� ����� ��� �������� �� ���� ���� �� ���� ��
� ��� ������� ������ �
!�� ����

����� '� ��� ����� �
��� ��� !����
���
� ������� 
���� "��$% �����

R = i

(
1 −

n−1∏
j=1

S(θn − θj)S(θn − θj − iπ − εj)

)
F2(n−1)(θ1..θn−1|ε1..εn−1)

����� �� ��
���� ��� �
�� 
� �(�� "��#$% ���� ���
���� �� )��� ����� �� εj �

*� ���� ����!�� ��
� ��� ������� ����� ��� ������� ������ ��� ��� ����� ��
� �������


 1/εn ������
����� +���� �������� �� ��� �
������ �
��
���� ���� �� ���� ��� 
�� ��� �����

��
� ������� 
� ��
�� ��� 1/εi ��� 
� 
�����
�� i� ����� �� ���� ��� ��
��
� ��
� �
����

�� �����
��� �� ��� ��������� ���������� �
���� ��� ����� ��
��� ,������� ����� 
�� ��

������
������ "1/εi �
�����% 
�����
��� �� ��� 
�� �� ����� F c
2n(θ1, . . . , θn) �� ��)������� ����

*� ��� �������
�� ��� ��� ������� ���!�� ��� n = 2� ����� 
�� ���� ����� ��
����

�������� �� )���� ��	� �������� ��� ����� ������

F4(θ1, θ2|ε1, ε2) = F c
4 (θ1, θ2) + ϕ(θ1 − θ2)

(
ε1

ε2

+
ε2

ε1

)
F c

2

����� ����� �
�! "��#	% ���� ������� ε1 = ε2� ��� n = 3 ����� 
�� 4 ��-����� !����

�� ��
���� ��� ���������
����� �� ����� 
�� ����� �� )���� ���. 
�� ����� ��
��� �
� ��

���
���� �� ��������� ��� ���� �
���� 1, 2, 3� ��� ������������� �� ����� ��
��� 
��
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1 2 3 ��
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�

1 2 3
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�

1 2 3 ��
��
��
��
��
��
��
��

�
�
�
�

1 2 3

����

�������� ������
(a) (b)

(d)(c)

������ 	
	� �
� ����
� �������� ��� n = 3

(a) : F c
6 (θ1, θ2, θ3)

(b) :
ε2

ε1
ϕ(θ1 − θ2)F

c
4 (θ2, θ3)

(c) :
ε2

ε1

ε3

ε2
ϕ(θ1 − θ2)ϕ(θ2 − θ3)F

c
2 =

ε3

ε1
ϕ(θ1 − θ2)ϕ(θ2 − θ3)F

c
2

(d) :
ε2

ε1

ε2

ε3
ϕ(θ1 − θ2)ϕ(θ3 − θ2)F

c
2

������ �� ��� �
� ������������� ��� ������� ε1 = ε2 = ε3 �� ������� ���
 �	
�	�


����� ����	�
���
 �	
� �������� ��������

 ����� �������� �� �!�������� ��� �������� "����! ���"���� �� ���"� �� ���������

���" ������� �� #�$%& �
��
 �� ��������' ����� �� ������� ���( �' )���� #��% ��� ���� ��

�
� �����"����� ���"��� ��� ���"���*����� �� ������ �� �
� ���"����( �� ��������� )��
�

�����*& ������� �' +�����& ��� ���� �' ,������ ���� #��% ��� ���������� �
������
 ��

�������� ��& �� "��� �!���� �
� ���"���*����� �� -���� ����"� ������ ��-��� ���������'

�� �
� ���� �
�� �
� �������� ���������� ���" � ������ ������ �� ��"� "����.�������� )��
�.

/��� ��������


0� ��� �
��� �� ���������� 	
	
	 �
�� �
� ���"���*����� �� � -���� ����"� ����� ��

����� �'

|{I1, . . . , In}〉L =
1√

ρn(θ̃1, . . . , θ̃n)
|θ̃1, . . . , θ̃n〉

1� ����� �"�� �
� �������� ������� ������& ��� ���� ������ �
� n.�������� �����"����� �'

ρn
 2�� �� ��(� � ������ �� �������� ������� A ∈ {1, . . . , n} ��� ��-�� �
� �������������

���.�����"����� �'

ρ̃n(θ̃1, . . . , θ̃n|A) = detJ (n)
A

�
��� J (n)
A �� �
� ���."����! �� �
� "����! J (n) ��-��� �� ���
 �	
$3� �
��
 �� ����� �'

�
������ �
� ���"���� �
��� ������� ������ �� A
 �
� ���� "����! ��� �� ������� �!�������'



�� ������� �	 
����� 
����� 
��� 
������ � �������� �������

��

J (n) =

⎛
⎜⎜⎜⎜⎝

E1L + ϕ12 + · · ·+ ϕ1n −ϕ12 . . . −ϕ1n

−ϕ12 E2L + ϕ21 + ϕ23 + · · · + ϕ2n . . . −ϕ2n

���
���

� � �
���

−ϕ1n −ϕ2n . . . EnL + ϕ1n + · · ·+ ϕn−1,n

⎞
⎟⎟⎟⎟⎠

���	� 
�� ��

����� ���	����
���� ��	� ����� Ei = mi cosh θi� ϕij = ϕji = ϕ(θi −θj)� ��
�


��
 ρ̃n ������� �� �

 
�� 	�����
���� ��
 ���
 
���� ����� ��		������ 
� �
����
� �� A�

�
 �� ������� 
��


ρn(θ̃1, . . . , θ̃n) ≡ ρ̃n(θ̃1, . . . , θ̃n|{1, . . . , n})
��
��	 �	������ 
�� �����
���

〈{θ̃k}k∈A|{θ̃k}k∈A〉L = ρ̃n(θ̃1, . . . , θ̃n|A) � ��!"

���	�

|{θ̃k}k∈A〉L
�� � #��	
��
 �
�
�$ ����� ���
���� ��
% 
�� ��	
��
�� ��
� ����& �� A� ��
 ��
� 	�����
���


��
 ��
�� 
�� '�
��()��� �*��
���� ��	 
�� ��

 n(��	
��
� �
�
�� ��
� 
��
 
��� �� ��
 �

�	���	 �
�
� �� 
�� ����� 
��
 �
 �� ��
 �� ������
�
� �� 
�� +���

����� ����� 
�� ��	
��
�

	�����
��� �� ��
 ��
�� 
�� '�
��()��� �*��
���� 	�
����
 ��	 � �
�
� ������
��� �� |A|
��	
��
�� ����	� |A| ����
�� 
�� ��	����
 �����	 , ���� �����	 �� �
����
� , �� 
�� ��


A"� -�� ���� ������ 
��� �	�����
 �� 
��
 
�� �����
% �� 
���� ��	
��
 �
�
�� �� 	�����
%

����� ������� �� 
�� �	������ �� 
�� �
��	 ��	
��
�� ����� �	� ��
 ���
����� ��� ������

�
 �� ���% 
� ��� 
��
 �
 �� ����� �% ρ̃n(θ̃1, . . . , θ̃n|A)�

�� 
�	�� �� 
�� ����� �����
����� ��
��	.� ������
�	� ��	 
�� �������
 ��
	�& �
����


��

i1...in〈{I1 . . . In}|Ψ|{I1 . . . In}〉i1...in,L =
1

ρn(θ̃1, . . . , θ̃n)
× � ��/"∑

A⊂{1,2,...n}

F c
2|A|({θ̃k}k∈A)ρ̃(θ̃1, . . . , θ̃n|A) + O(e−μL)

����� �� ���
 
�� �
����	� 	��	����
�
��� �� 
�� ��

 ��
	�& �
����
 �� 
�� ��� �� �

 
��

������
�� ���
	���
���� �	������ �� �����
 �*�� � ��!"� -�� ��

 ���
�
��� �� ��
�����

�% ������� ���	 �

 ������
� ����	
�
� ��������� �� 
�� ��	
��
��� ���	� 
�� �������� �� ��
�

��	
��
�� 
��
 �	� ������
�� 
� 
�� 
���
 ���	�
�	� ������ 
�� ������
�� ��	� ���
�	 F c

��� ��
� 
���� 
��
 ����
% �� ��	��

% �	�� 
�� ���
��
 
� 
�� ���
 �
�
� ����� ���
	���
�


�� ��	� �� 
�� ��		��������� ��	
��
 ��

�(��	
��
� �
�
��

0���� 
�� 	���

� �� 
�� �	������ ������
���� �
 �� ���% 
� ����1 �&�
���

% 
��
 ��	 	�
�

��	 
�� �������
 ��
	�& �
����
� �� ����� �� �*�� � �2!" �� �*����
��
 
� �*�� � ��/"� 3�

��� ���� � ����
�
� �	��� ��	 
�� ����	�
 �����



���� �����	�
 ���
�� �
���	�� ��

������� �∑
A⊂N

F c
2|A|({θk}k∈A)ρ̃(θ1, . . . , θn|A) =

∑
A⊂N

F s
2|A|({θk}k∈A)ρ({θk}k∈N\A) ������

�	
�
 �
 �

��
� N = {1, 2, . . . , n}�

����	 �	
 ��� ���
� �� 
�
� ������ ���
� �
 ��� �����

• �	
 ���� ������� �
 �	
 ���	� 	�
� ���
 ��
 
������
� �������
� �� �	
 �����
���� 

!�
����!���
" �
� �
 �������
 �� �	
 ��


��
� !��� ���� �	
� ��
���
 
#��� �
���"

�	��	 ��
 !��!�����
�� �� ��


��
� ���� ������� ���	 �
�
� !������
��

• �	
 �

����
� ρ̃ �
 �	
 �
�� 	�
� ���
 ��
 
�� �
�
���
�
�� �� �	
 ���� ����$� �����



���
 �
 �
��� �� �	
 !������
� ��
���

� �
 N \ A� �	
� ��
���
 �������
�� �
���

��
 �� �	
 !�
�

�
 �� �	
 !������
� �
 A �� �
���

%
�
 �
 �	�� �	�� 
�
� ������ �� �
�
�� � �
����
�&����
 �� �	
�
 �
����

'�� ���!������ ��
���
� (��� �	
 �
�� �
 �	
 �
�� 	�
� ���
 �	��	 ����
�!�
�� �� A =

{m + 1, m + 2, . . . , n}" ��
�

F c
2m(θm+1, . . . , θn)ρ̃(θ1, . . . , θn|A)

)
 
#!�
� ρ̃ �
 �
��� �� �	
 !	������ �����*!������
 �

����
� ρ� +
 ���
� �� �����!���	

�	��" �� �� ��
��� �� �
����
 �	
 ��,*�����# J n
N\A ��

J (n)|N\A = Jm(θ1, . . . , θm) +

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎝

n∑
i=m+1

ϕ1i

n∑
i=m+1

ϕ2i

� � �
n∑

i=m+1

ϕmi

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎠

�	
�
 J m �� �	
 m*!������
 -���,��
 �����# �	��	 ��
� 
�� ��
���
 �
� �
��� �
!

��
�

�
 �	
 !������
� �
 A� �	
 �
�
���
�
� �� J n
N\A ��
 ,
 �����

 �� � ��� ��
� �	
 ��,�
��

�� N \ A� '�� � �


��� ��,�
� B ⊂ N \ A �
� �� ��
 �	
 
������
 B = {b1, b2, . . . , b|B|}�
)
 ��
 �	

 ����


ρ̃(θ1, . . . , θn|A) = �
�J (n)|N\A =
∑
B

⎡
⎣ρ(N \ (A ∪ B))

|B|∏
i=1

(
n∑

ci=m+1

ϕbi,ci

)⎤⎦ ����.�

�	
�
 ρ(N \(A∪B)) �� �	
 ρ*�

���� ����$� �����

 ���
 ���	 �	
 !������
� �
 N \(A∪B)�



�� ������� �	 
����� 
����� 
��� 
������ � �������� �������

�������	 
 ���

��� �����


��� �� �
��
���� �� �
� 	����
���� ���� ������ 
� 
� 
����


�
�� �����
 A ⊂ N �

ρ̃(θ1, . . . , θn|A) = ��
J (n)|N\A =
∑
B

ρ(N \ (A ∪ B))
∑
C

(

|B|∏
i=1

ϕbi,ci
) ��� !�

�"��� 
"� ������ ����

��� 	��� ���� 
�� 
"� ��
� C = {c1, c2, . . . , c|B|} ��
" |C| = |B|

�� ci ∈ A� #"� ���
 "
�� ���� �� ���� ����$� �
� 
"�� �� ���

�� 
�∑

A⊂N

F c
2|A|({θk}k∈A)ρ̃(θ1, . . . , θn|A) =

∑
A, B ⊂ N

A ∩ B = ∅

ρ(N \ (A ∪ B))
∑

C

F(A,B,C)��� %�

�"��� F(A,B,C) = F c
2|A|({θk}k∈A)

|B|∏
i=1

ϕbi,ci

&� ��� �"�� 
"

 
"��� �� 
 ����
����� �������������� ��
���� 
�� 
"� 
���� �� ��� %�


�� 
"��� �� 
"� ��	"
 "
�� ���� �� ����$� �� 
"� �����
��� ��
��

���� F s
2k 
�� �'�
����


�������	 
� #"����� %� #� �
�" 
�����
 (A, B, C) ��
 �� 
���	� 
"� 	�
�" G(A,B,C) ��(���


� ��������

• #"� ���
���� �� 
"� 	�
�" 
�� 
"� ������
� �� 
"� ��
 A ∪ B�

• #"��� 
�� �'
�
�� |B| ��	�� �� 
"� 	�
�") �"��" �

�
 

 bi 
�� ��� 

 ci ��
"

i = 1, . . . , |B|�

#"� ���
����
��� �� G(A,B,C) 
� F s
2(|A|+|B|)({θk}k∈A∪B) �� ��
"��	 ���� 
"
� F(A,B,C) �"��"

�
� �� ������ �� 
������	 
"� ����� �� #"����� %� *�
� 
"

 
�� 
"� �������� ��
	�
��

��
" 

 ���
 n ���
���� 
�� ���

���� �� 
"� 
���� ���
 �� 
"� G(A,B,C)) ���
��� 
 	����
�

	�
�" G �

������	 
"� �����
���� �� #"����� % �
� �� �"
�
�
������ �� ���
��	 ���� 
"�

��
 �� ���
���� ��
" 
�� ��
"��
 ��
	���	 ��	�� ��� 
"�� �
�� B 
�� A� 
�� 
"� �������
�

�� 
"� ��	�� ��� 
"�� �
�� C��

+
 �� �
�� 
� ��� 
"

 
"� �
�
��� ρ(N \ (A ∪ B)) ���
������	 
"� F(A,B,C) �� ��� %� 
��


��� 
"� ������
 ����� 
"�� 
�� ,��
 
"� �����
� �
�
��� ���
������	 F s
2(|A|+|B|)({θk}k∈A∪B)

�� 
"� ��	"
 "
�� ���� �� ����$�� ����

��� �����	�	�
��	 
��������

����� ����	
�� �

� ��� ��	

��� ����
��

+� 
"������ ��
" ���� 
 ���	�� �
�
���� �������) 
"��� �
� ���� �� 
 ���	�� �
�
���� �� ����

�����
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 ���
���
�
���� �


� ��� 
� 
"� �'������� ���������� -�� 
"� �����
�� 
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���� �����	�	�
��	 
�������� ��

�� �����	
 ���
 �� ����� �
	��� �� �� ��������
 ���� �		 ��� 
���� ������	�� ��
�	� �
��

���� ������� ������� �� ����� 
� 
��
���� ����� ����� ����� ���� ��� ����� ���� ����

2n + 1 ������	�� �� � �
��������
�

|{I1, . . . , In, 0,−In, . . . ,−I1}〉L

������
�� �� �
������ ������ �	������ 
� ��� �
��

〈{I ′
1, . . . , I

′
k, 0,−I ′

k, . . . ,−I ′
1}|Φ|{I1, . . . , Il, 0,−Il, . . . ,−I1}〉L

����� k = 0 
� l = 0 �
�����
����� �
 � ����� �
�������� � ����	� �����
���
 ������	�� !�

�	�
 ����
�� ���� ��� ��
 ���� {I1, . . . , Ik} ��� {I ′
1, . . . , I

′
l} ��� �
� ��������	� 
�������� ��

���� ��� ���� 
� ����
��	 ������ �	������ ������� �� �����
� " � 

!� ���� �
 ������� �
�� ����
�� 
� ��� �
��

F2k+2l+2(iπ + θ′1, . . . , iπ + θ′k, iπ − θ′k, . . . , iπ − θ′1, iπ + θ, 0, θ1, . . . , θl,−θl, . . . ,−θ1)

����� ��� �������	�� 
������� 
� ��� ���������� ��� ��
��� �
 ������ ���� �
 ������
��	 S

������ ����
�� ������ �� ��� ����
������� ����� 
� ��� ��
����� ��	���
� �" "� #���� ���

�����	����
 ���
� �" $�� �	�� ��������
 ��� ��
����� �
�����
 
� ��� S%������ �� �� ���


�
 ��� ���� ��� ������� 
� ��� ��
�� ������
� �� θ = 0 ��������� ��� �
 �� ��� � ����� 	����

�� θ → 0 &
������ ���� 	���� ������� 
� �������
� '��� �� �� ��� ���� 
� ��� ����
��	

������ �	������ �
�������� �� �����
� � ������
�� �� ���� ������
 ��� ��
 �� �� ��(���

��� '��� �� �����
��	
 �� ��� � ����������
� ���� �� ������		
 �
������� �� �		 ������	��)

�� ��

�� �
 ����� �		 ���������� �������� ��� 	��� ���� ����� ���� ��� ���� ��
��� �


�����

Fk,l(θ
′
1, . . . , θ

′
k|θ1, . . . , θl) =

lim
ε→0

F2k+2l+2(iπ + θ′1 + ε, . . . , iπ + θ′k + ε, iπ − θ′k + ε, . . . , iπ − θ′1 + ε,

iπ + ε, 0, θ1, . . . , θl,−θl, . . . ,−θ1) �" $"�

#���� ��� ��
�� �������
�� �
 ���	
�
 �
 �" �*� �� �
�'������ ����

〈{I ′
1, . . . , I

′
k, 0,−I ′

k, . . . ,−I ′
1}|Φ|{I1, . . . , Il, 0,−Il, . . . ,−I1}〉L = �" $��

1√
ρ2k+1(θ̃

′
1, . . . , θ̃

′
k, 0,−θ̃′k, . . . ,−θ̃′1)ρ2l+1(θ̃1, . . . , θ̃l, 0,−θ̃l, . . . ,−θ̃1)

×
(
Fk,l(θ̃

′
1, . . . , θ̃

′
k|θ̃1, . . . , θ̃l) + mL F2k+2l(iπ + θ̃′1, . . . , iπ + θ̃′k,

iπ − θ̃′k, . . . , iπ − θ̃′1, θ̃1, . . . , θ̃l,−θ̃l, . . . ,−θ̃1)
)

+ O(e−μL)

����� θ̃ ���
�� ��� �
	���
�� 
� ��� ����
������ +����%,��� ������
�� �� �
	��� L� ρn �� �

��
������ �
����
� �
� ��� n%������	� +����%,��� ������
 �" -$� ��� ����	��
 �� �������

�



�� ������� �	 
����� 
����� 
��� 
������ � �������� �������

�� �� ����	 
������
 �	 �	���� 
��� �	����� �
�
� ���� �	�����	 ����	� �
 �������������	 ����	�

��	 �� �	�	��� ��	� ���	�	���� �� ��	 
��� 
����� ��������� ��� �� ���	����� �	�����

�� !"#
 "��� ���	 ���� �	���	���� �������	� ���	� ����	 
������ �� ��	 ����� ���� ���	

��������� �� ��	 	������	 ����� ��
$#
 ���� ����	 �� ��������� ���	�� �� ��	 ���	 �
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� ��� ����� ����	�% &���� �������� ��,	�

�� ����	�� ��& �� �	��	 � �	����� ������� �� ρ̃ �� ��
�-#
 !��� � �	����� &���� ��,	 ����

������� ��	 ���	������� &��� ��	 ���	� �������	�
 .�&	�	�% ��	 ���+	�� ��������	� 	��	����
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� ε
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��	 &	 	��	�� ����

��	 �	����� 
����� ����������� ��	 �	�� F2k+2l �� ��
)$# &���� �	 ��	 ��	��������	 ����	

�	����� �� &���� ���	 �
 ��	 ���	� ��������	� ���	��% &���� �� 	������ mL 
�� � ����������

�������	
 ���� �� � ������� ��	�� 
��� 	(�
 ��
$-# &���� ����	� ���� &�	� �������� ������

	�	�	��� ��	 	���	��	� ����� ��	 ����	���� 	���������% ���� �	�����	� �
 ��	 ���	 ρ ���	��


"����	� �����	�� ��� �	 
�������	� ����� ��	 ���	������� ���� 	(�
 ��
)$# �� ����

����� �
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3	� �� ������	� �&� ���	� ������� �����	�

F+
k,l(θ

′
1, . . . , θ

′
k|θ1, . . . , θl) =

lim
ε→0

F2k+2l+2(iπ + θ′1, . . . , iπ + θ′k, iπ − θ′k, . . . , iπ − θ′1, iπ, ε, θ1, . . . , θl,−θl, . . . ,−θ1)

F−
k,l(θ

′
1, . . . , θ

′
k|θ1, . . . , θl) =

lim
ε→0

F2k+2l+2(iπ + θ′1, . . . , iπ + θ′k, iπ − θ′k, . . . , iπ − θ′1, iπ + ε, 0, θ1, . . . , θl,−θl, . . . ,−θ1)

�� &���� ��	 ���
� �� ��� ���� �� ��	 +	������	���� �������	 �� ��	 �����4�	
�% �	��	����	��


1���� ��	 ,��	������� �	����	 ����� ��
)#% F± ��� �	 �	���	� �� F ���

Fk,l(θ
′
1, . . . , θ

′
k|θ1, . . . , θl) = F+

k,l(θ
′
1, . . . , θ

′
k|θ1, . . . , θl)

+2
l∑

i=1

ϕ(θi)F2k+2l(iπ + θ′1, . . . , iπ + θ′k, iπ − θ′k, . . . , iπ − θ′1, θ1, . . . , θl,−θl, . . . ,−θ1)

Fk,l(θ
′
1, . . . , θ

′
k|θ1, . . . , θl) = F−

k,l(θ
′
1, . . . , θ

′
k|θ1, . . . , θl)

−2

k∑
i=1

ϕ(θ′i)F2k+2l(iπ + θ′1, . . . , iπ + θ′k, iπ − θ′k, . . . , iπ − θ′1, θ1, . . . , θl,−θl, . . . ,−θ1)
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� ������� %� ��� 
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� ��& �� �!���� ����

���� ���� � ������� ���� ����� �
 �� 
� ��	
���
�� �� ����� ���� �
�� ������
��� ϕ �����

	������$ � �� �����" �� ��
�� �� �����
� ����' �
 �� �
����
 �� �
������
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���� 1/l ��
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� ��� �������
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• ��� ���� 
� ��� ��	������� ��� ,	�����*���������- �
� ���� 	������� �	����� ��	�������"

��� �
� ����� 	������� ���� �
�*)��
 ��	����� θ ����� �� � 	������� 
� ��� ���� �	�����

���� ��	����� −θ� ��� ���� �
��� �
� ��� �
���� � � ��� � � �
���� (� �� �
�*

������� �
 ���
�� � �� � ����� ���� 2n + m 	�������� 
�

|{I1,−I1, I2,−I2, . . . , In,−In, 0, 0, . . . , 0}〉i1i1i2i2...inin j1...jm,L

• ��� ���������! 	����� 
������ ��� )��
*�
���� � 	�������� �������∏
l=1...m

l �=k

Sjkjl
(0) = 1 k = 1 . . .m

���� �
�����
� �� ��������� �
� ��� .����*/��! �� ���
�� �
 �
���

0��� �� �
������ ������ �������� 
������ ��
 ��1����� ������ |ϕ〉 ��� |ϕ′〉 �����
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��� ��� !�������)���
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2�� |ψ〉 ��� |ψ′〉 
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� ��
�� )��
*�
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����� �	�
��
� 
���� �� 
���� ���
 n 	�� n′ �	�
��
�� 	�� ����
�� �� i1, . . . in 	�� i′1, . . . i
′
n′�

�����	� ��� 
�� ���	����� o �	�
��
�� �� ��� j1, . . . jo�

��� ����� �����
 A ⊂ {j1, . . . jo} �� �����

F o
nn′(A) = lim

ε→0
Fn+n′+2|A|(iπ + θ1 + ε, . . . , iπ + θn + ε, iπ + ε, . . . , iπ + ε︸ ︷︷ ︸

|A| �����

, 0, . . . , 0︸ ︷︷ ︸
|A| �����

, θ′1, . . . , θ
′
n′)B

����� 
�� 
	��
 �� �	�
��
� 
���� �� ����� ��

B = {i1 . . . in}AĀ{i′1 . . . i′n′}

��
� Ā ������
��� �� 
�� �
����
� �� A 
��
�� �� ������� ������

��
� 
���� ��
	
����� 
�� ������
���� �����	
 �����
	 ��	��

〈ψ|Φ|ψ′〉L =
1√

ρn+o(θ1, . . . , θn, 0, . . . , 0)ρn′+o(θ′1, . . . , θ
′
n′, 0, . . . , 0)

×∑
A⊂{j1,...jo}

F o
nn′(A)

∏
j∈B

(mjL) + O(e−μL)  !�"�#

����� B = {j1, . . . jo} \ A� $�
�� 
�	
 	� �%��	��� �� 	�� 
�� �	����
��� �� θ1 . . . θn ��
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��� �� 
�� 
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�	
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��

P =
2π

L

(
L0 − L̄0

)

�� ����	
�� L0−L̄0 %����	
�� "����
( 
�	������	
���� 	�� �
� ��%���	
�� �� �	

�� "����
(

����� 4�� 	 �������	
 ��	
�	
��� �� 
�� ����
���+ 
�� ��
���
 ��	�� �� 
����	
�� �� ��#

�����% 	 ��
 �� 
�� �������	
 ����%�� ��� 
����	
�� �������	
 ��	�� ������������% 
� 	

%���� 
����	
��� 	�� ! �� �	
�� s �� 
�� "����
( ���� ��	��

HTCS(s, ecut) =
{
|ψ〉 ∈ H | (L0 − L̄0

) |ψ〉 = s|ψ〉,
(
L0 + L̄0 − c

12

)
|ψ〉 = e|ψ〉 : e ≤ ecut

}
5*
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hij =
2π

l

(
L0 + L̄0 − c

12
+ i

κl2−2Δ

(2π)1−2Δ
G(s)−1B(s)

)
�����

����� ������ �� ����	��� �� 	���� �� ��� �����
�� ���� m� l = mL �� ��� �������������

 ��	�� ����������

G
(s)
ij = 〈i|j〉 ���!�

�� ��� 
�������� ����� ����	
� ������ ���

B
(s)
ij = 〈i|Φ(z, z̄)|j〉|z=z̄=1 �����

�� ��� ������ ������� �� ��� �������� Φ �� ��� ����� z = z̄ = 1 �� ��� 
������ �����


������  �
���� |i〉� |j〉 ���� HTCS(s, ecut)� "�� ���	��� 
���� ��� ���� 
� ��� �
���� ��

#������� ���������� �� ��� ����������� ��� ��������� G(s)−1 �	�� 
� �������� �� �����$

���� ��� ����  �
���� �� ��� �	�� 
����� "�� ���
��� ���
� ��� ��� ������ �������� ���


�����	
��� 	���� �� ��������� �� ������ 
� %�	�
� �� ��� ��� &��� 	��� �� '()*�

+��������,��� ��� ������ hij �� �
���� ��� ������ �� ��� �� �	�
����� �� ���  ��	���

���� ������ ��� ������ ����	��� �� 	���� �� m� "�� �����	�  ��	� �� ��� 
	��- ecut

�� 	��� ��� 30� �� ���
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��� ��� ���
��� ���
� 
������� ���	�� ��� ���	����  �
�����

�������� ��������� �� ��� �����

����� ����	 
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 	�� ���
��� ���� Φ �� 	�� ��������


����

.��� ��
���� �� ��� ���
� �� ��� ������$������ ������ Θ ���� 
���	��� 
� /��0�

1������
��2� �� '�(*� ��� 	���� ��� ��������

Θ = iλπ(1 − Δ)Φ �����

�� 
�� ������� ���� �� ����� �� Φ� "��� �� � ��� ����

Fn(θ1, . . . , θn) = 〈Φ〉HnQn(x1, . . . , xn)
n∏

i=1

n∏
j=i+1

f(θi − θj)

xi + xj

���)�

���� ��� ���������

f(θ) =
cosh θ − 1

cosh θ + 1/2
v(iπ − θ)v(−iπ + θ)

v(θ) = exp

(
2

∫ ∞

0

dt
sinh πt

2
sinh πt

3
sinh πt

6

t sinh2 πt
eiθt

)

xi = eθi , Hn =

(
31/4

21/2v(0)

)n
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��� ����	
�� �
 ��� ������ �� ������� �� ��� �������
 �������� ��

λ = 0.09704845636 · · · × m12/5 �����

��� ����� ������ ����������� ����� �
 ��� ���� Φ ��

〈Φ〉 = 1.239394325 · · · × i m−2/5

����� ���  � ������� � ������ ����
 ����! ���� ��� ���� ��� "���� ������ �����������

����� �
 Θ #$�%

〈Θ〉 = −πm2

4
√

3

��� 
�������� Qn ��� ��������� ����������� �� ��� ����� ��� xi� &�����
 ��� ����������

��������� ����������� �
 n ����� ���  � ��� ���������

n∏
i=1

(x + xi) =

n∑
i=0

xn−iσ
(n)
i (x1, . . . , xn) , σ

(n)
i = 0 
�� i > n

���� ���  � ����������� ��

Q1 = 1 , Q2 = σ
(2)
1 , Q3 = σ

(3)
1 σ

(3)
2

Qn = σ
(n)
1 σ

(n)
n−1Pn , n > 3

Pn = detM(n) ����� M(n)
ij = σ

(n)
3i−2j+1 , i, j = 1, . . . , n − 3

'��� ���� ��� ���	�������� 
��� 
����� �� ����������� �
 ��� ��������(

FΦ
1 = 1.0376434349 · · · × im−2/5 ���)�

����� �����	
�� 
�������� ��	�� 	����	�� 
�� 
�� ����� �����

��� ���
����� *���
 ����� ���  � ����������� �� ��� ������ �
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2π
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ψ(z) =

⎧⎨
⎩
∑

r∈Z+ 1
2
brz

−r−1/2 '����	.�����/ �'.� ������∑
r∈Z

brz
−r−1/2 0����� �0� ������
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⊕

h=0, 1
2
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16

Vh ⊗ V̄h
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�	� 
�	 ����� ��� ����	���	���� 1������	��	 �	 ��� ���� ���0 � ��� ������� 
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1, . . . , I

′
k; L)G

(s′)
ij Ψj(I

′
1, . . . , I

′
k; L)

&	 �� �����	��	 	
�	 	
� 
�������	� �� 	
� ���	 �������
	�� ��� ��	 
�����' 
��(���	�� &�

	
� &���� ����� �� ���) �� � ����� �
��� ��� ��	��' ��� ��
	�� 
�������	� ��� ��	������

���� &� 	
� %������� �����# 	
� *+�, �������
	��� ��� 

���� �� 	
�	 ��� �� 	
��� 
�����

���	� Ψi ��� ��	
�� ������ ���� �� ������ ��������� ��������� �� �
�	
�� 	
� ����� ��
	��

|i〉 �� �� ������	 �� 	
� h = h̄ = 0 �� 	
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φ(l) = −im2/5〈0|Φ|0〉L

����� ��� ����� ������ ����������� ����� �� ��������� ���� 
012 �����  	
3#
 4� ���$

������ ����������� �� φ �� � �������� �� &��� ��� ����5 ecut = 21 . . . 30 ��� ��� ������
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)1/4 〈0|Φ|{s}〉L
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f̃ 0
1 (l = ∞) = 1.037654 . . .

f̃ 1
1 (l = ∞) = 1.037650 . . .

f̃ 2
1 (l = ∞) = 1.037659 . . .
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φ(l) =
1

m
〈ε〉L = 0.45475 · · ·+ O

(
e−l
)

����� m = m1 	� ��� ���� �� ��� �	
����� ����	��� ��� l = mL �� )������ ��� �*+,
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���	����
1

m
〈ε〉 = 0.4544 . . .
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f2(l)I1I2 = −im2/5〈0|Φ|{I1, I2}〉L , l = mL

$������� �%
��� ��#�� ��� ����� ��� ���������� �� ����� �� ��� �&��� �������������

f2(l)I1I2 =
−im2/5√

ρ11(θ̃1(l), θ̃2(l))
FΦ

2 (θ̃1(l), θ̃2(l)) + O(e−l) �	
�	�

 ���� θ̃1(l), θ̃2(l) ���#� ��� '�����(��� �)�������

l sinh θ̃1 + δ(θ̃1 − θ̃2) = 2πI1

l sinh θ̃2 + δ(θ̃2 − θ̃1) = 2πI2

��� ��� ������! �� ������ �� ��#�� "!

ρ11(θ1, θ2) = l2 cosh θ1 cosh θ2 + l cosh θ1ϕ(θ2 − θ1) + l cosh θ2ϕ(θ1 − θ2)

��� ����� ����� δ �� ������ ��������� �� �)�
 ��
%*� ���

ϕ(θ) =
dδ(θ)

dθ
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ρ11(θ̃1(l), θ̃2(l))〈0|Ψ|{I1, I2}〉11
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l sinh θ̃1 + δ11(θ̃1 − θ̃2) = 2πI1

l sinh θ̃2 + δ11(θ̃2 − θ̃1) = 2πI2

ρ11(θ1, θ2) = l2 cosh θ1 cosh θ2 + l cosh θ1ϕ11(θ2 − θ1) + l cosh θ2ϕ11(θ1 − θ2)

ϕ11(θ) =
dδ11(θ)

dθ

���

f̄12 (l)I1I2
=
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dθ

��� ��� ��
����� ���	��
 
�� ���
 ���
�� ����
	���

FΨ
2 (θ̃1(l), θ̃2(l))11

���

FΨ
2 (θ̃1(l), θ̃2(l))12

������
	�����

��
����� ��� �� ������� ��
��� 
�����
	�� ������ 	� 
�� ��	�� 
���� ��� 
��� ������


��� 	� 
�� �������� ����� ��
������
	�� 	� 
�� ��
� 	
������ 
��
 !� �� ����� ��


���	
��� ��
����� 
� 
�� ������
	�� �
 
�� �	����
 ��
� �	� ��� ���� 30�� ��
�� ���


������
	��� ���	�
	��� 	� 
�� ����	�� ���	�� !���
� ���� 
��� 1" ��	
� � 
	�	
�
 ��

������ 10−3 	� 
�� A1A1� ��� 10−4 	� 
�� A1A2 ������ ��� ���� !�

�� ��� �
�
�� �	
�

���#��� 
�
�� ��	�� �� ��
�� 	� 
�� ����	��� ��!���
	�� 
�	� 
���� 
��
 
�� ��
��	�� 	�

������ ����	
	�� 
� 
�� ���������� �� 
�� ���
	��� ���	�	
	�� ��� �
�
� ����	
� ���
��� ��


�� 	�
����
	�� !�
���� 
�� ���
	����$ ��������� 
�� 
�����
	�� ������ 	� 
�� ��
������
��

��
� ��� �!��
 
�� ������ �� 
���	
��� �
����� 
��� 
�� 	�
����
	�� ������
	����

�
 	� � ������� 
������� 
��
 
�� �����
��
 	� !�

�� 	� 
�� ���
��� �	
� ���#��� ��	��

��� 
�� ����	�� ���	�� �
��
� �
 �
����� ������ �� 
�� ����
�� %�	� 	� ���� 
� ������
��� ���


�� ������ ������� �	��� ��� ������	�� �
�
�� ���#��� ��	� ��������� 
���� �	���� ���
	���


�
��
�� %�� �	���� 
�� 
�
��
� �� 
�� ���
	����� 
�� 
��� 
�� &�
������� ���
�	!��


	��� ��
	��
� ���� 
�� ���	���� '�	
� �	#� � ��
�� %�	� 	� ����	�
��
 �	
� 
�� �����
� ��

(�

�)�	��� ��� *�

�	�! 	� +,-./ ����� 	
 ��� ����� 
��
 ��������� ����� ��	�
� ���

!� 
��� ����	�� ��
���
�� ���
 ���
��� �	
� ���#��� 
�
��
�
$ ��� ��
� ���� 
��
 
�	�

�!�����
	�� ����	�� ���� 
� ������� 
�
�	� ���
��
� �� �����



���� ������	�
��
 ��	� �����	� ��

 6

 7

 8

 9

 10

 11

 12

 13

 10  15  20  25  30  35

|f̄ 1
1
|

l

〈0|Ψ|{1/2,−1/2}〉11

〈0|Ψ|{3/2,−3/2}〉11

〈0|Ψ|{3/2,−1/2}〉11

��� A1A1

 4.5

 5

 5.5

 6

 6.5

 7

 7.5

 20  22  24  26  28  30  32  34  36

|f̄ 1
2
|

l

〈0|Ψ|{−1,1}〉12

〈0|Ψ|{0,1}〉12

〈0|Ψ|{1,1}〉12

��� A1A2

������ 	
��
 ������������ ���� ������� �� ��� ����� �����
 ���� ���������� �� �� ! ����"

����� ��� ����� ���� ��� ������������� ���� ������ ����������




�� ������� �	 
����� 
����� 
��� 
������ � ��������� ��������

��� �����	�
��
�� ��
� ��
��
�

����� ����	
� �

���
� ���
�

�� ���� 	�
��
��
 ����
���� ���������� �� ��
�� ��
 ���
�	�
����� ��
� �����
� ��

��� ������� �������� ��
��� ���� �� ��� 
������ �
� 	
������
 �� ���
�� ���� ��
 �����


��	������� � !�
 ��� ��"� �� #
���� $� 
��
��� �
�� 	
�������� �%	����� ����
���� ��#����

$� ��� ������� ���� ��� ��
������ #��$��� ��� ����
���� &'() 
��� ��
 ��� 	
�
������

�
�� ��� �%��� ��
� �����
 �������� �� ��$� � #����
 ���� 10−3 �� ��� ������� 
������ !�


#����
 ����#���� $� 	�����
 ��� ���������

f̃k(l)I1...Ik
= −im2/5

√
ρk(θ̃1, . . . , θ̃k)〈0|Φ|{I1, . . . , Ik}〉L , l = mL
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������� *+���, �����-
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{I1, . . . , Ik} �= {−I1, . . . ,−Ik}
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|{I1, . . . , Ik}〉±L =
1√
2

(|{I1, . . . , Ik}〉L ± |{−Ik, . . . ,−I1}〉L)
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gij = viG
(0)vj
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&" ���!��� ��� � ������������� ��������#�� �����!���� ���&���

g · w = λP · w

��� ��� !����� (w1, w2) ������&��� ����������� �� ��� ��&������  ���

P =

(
0 1

1 0
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f̃111 (l)I1I2I3
=

√
ρ111(θ̃1(l), θ̃2(l), θ̃3(l))〈0|Ψ|{I1, I2, I3}〉111

!���� θ̃i(l) ��� ��� ��������� �� ��� �������������� '�����(��� �)������� �� *�������������+

,����� l ��� ρ111 �� ��� ����������� 3��������� �����������
 ��� ������� �� ��� ����������
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/
/ �� !��� �� ��� �����0� ���� ����� �� ��� ���� ����������

����" ���� �� !���1 !� ���" !��� �� �������2� ���� ��� A1A1A1 ������ !��� ���2��� �����

���� ��� ��������� -��!��� ��� �$���������� ���� ���� ��� ��� ���� ������ ����������

�� ��� ������� ���� �� ��� ������� ������ �� !����� 2 × 10−4
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fkn(l)
I′1,...,I ′

k

I1,...,In
= −im2/5〈{I ′

1, . . . , I
′
k}|Φ(0, 0)|{I1, . . . , In}〉L

��� ����

f̃kn(l)
I′1,...,I ′

k

I1,...,In
= −im2/5

√
ρk(θ̃′1, . . . , θ̃

′
k)

√
ρn(θ̃1, . . . , θ̃n)〈{I ′

1, . . . , I
′
k}|Φ(0, 0)|{I1, . . . , In}〉L

��� !���� �������� "#
�$% &�����

fkn(l)
I′1,...,I ′

k

I1,...,In
= −im2/5 FΦ

k+n(θ̃′k + iπ, . . . , θ̃′1 + iπ, θ̃1, . . . , θ̃n)√
ρn(θ̃1, . . . , θ̃n)ρk(θ̃′1, . . . , θ̃

′
m)

+ O(e−l)

f̃kn(l)
I′1,...,I ′

k

I1,...,In
= −im2/5FΦ

k+n(θ̃′k + iπ, . . . , θ̃′1 + iπ, θ̃1, . . . , θ̃n) + O(e−l) "	
��%

��� ��� ����� !� ����� �� ������& f �� f̃ ��������� �� !���� ��� ��'�� � (����� '�����

�������
 
�� ��������� ������� ���!� ���� ��� )��� � �������� �� ��� ���� !� �������&

�(������ (�� ��� �� ���� ���! �� ��������� !��� ��������� 10−4 − 10−3 �� ��� �������

������ "��� '����� ����� ������������� �� ��� ������� ������ �&������& '����� ���������

�� ��� �����* ������� ���������� ��� �� '�������� �� ��� �������� +���� ��,� �����������

��� ���������� �-����%
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2  !���� ��� ������������.
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�������� f22&
 '��� �%�� �� �������� �� �%� ����������� ��������� �� ��(�������� 	
� ���

	
	# �%��� ����� ��)��)� �%� ���� ������ ��������� *	
+& �� ������, )����� �� �%� ����������


-� �������# ��� ����� ��������� $��% � !" ��� ���� ���� ������� �� �������. ���������

$��% ��������. ����� 0 �� π# $%��% ��� �%� ���. ����� �� �%� ������, �������. ����� $%���

���� ������� �)�������. ���������� �� �%.����� �����, ��������


��������������%������������ ��� �������������������������� �����, �������� f13 ��� f14

������(��� ����%�� ����� �� ������ �����������
 /� ������ �%�� �%��� ��� ����� �� �����.�

������� ������ �� �%� �����0 ������� $%��% $� ������ ����������% �� ����� �� �%��� ���������.

���� �������
 -� ��(������� 	
	 $� �%�$�� �%� �,����� �� �%� �%������������ ������

|{3,−1,−2}〉L ��� |{2, 1,−3}〉L
��� �%� ������������� ������

|{7/2, 1/2,−3/2,−5/2}〉L ��� |{5/2, 3/2,−1/2,−7/2}〉L
-� ���� �� �� ���. ���� �%�� �%�. ������ (� ����������%�� �� �%� ���� ����� �� �����.���)������


1�$�)��# ����� � ������������ ����� �� ���2��� ���� �� �%� ���� �� �� �����(�� �� ����������%

��� ������������. ��(�� �%� �$� ������# �� �%�$� �� 3����� 	
�4 ��� 	
�5
 �%�� ��� ����

(� ���� ����� �����, �������� $��% �$���������� ������ �� ���2��� ����
 �%� �$�����������

�%������������ ���� f23 �� �%�$� �� 	
�0 *������� ������� $��� �(������ ��� f24&
 6,�������
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 �#� ����
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�����
� ���# ���# ��#��	

'� �� ���� �
�������
� �� 
��� �#�� �#� f14 ($���� �	
)* �
� f23 ���� ($���� �	+,*

���%��� � ���� ��� �#� $%���������� ���� ������ �������
� F5	 �#�� �� �������
� ��
�� ��

�� ���������%��- #����� �� ���
���- ��
-��������� ������ �
 �#� �� ! �������� ��� ���

�����
�	 �����" �#� �������� ������ .������ ���� �
� ���� ��
�� �� �� ���/ ��� #��#��

��%���0 ����
�" �#� ���
�����
 ������ ���� �� ����	 1��# �� �#��� ��/� �#� ���
��$�����
 ��

�#� �
���- ��%��� .- ���������
 ���# �#� ���������
� �� �#� 1��#����
� �2�����
� ����

��3����0 �
 �#� ������
� ���� �� ������� �� ������������� ��%���	 4���%��" ���
� ��
����

�����5 �����
�� �
� �#� �������
� (�	
6* �� ��
 �%�
 ��� ���� ��� ���� ������� �� �� 8

���������" � ������ �� �#��# �� �#��
 �
 $����� �	+
 (f33 �
� f44" ��������
��
� �� 6 �
�

8 �������� ������������* �
� �	++ (f34 �#��# ��������
�� �� 7 �������� ���� �������*	
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 �#� ���� �� �#� '��
� �����" �� ��$
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����
�

f̃j1...jm;i1...in(l) =

√
ρi1...in(θ̃1, . . . , θ̃n)ρj1...jm

(θ̃′1, . . . , θ̃
′
m)× j1...jm

〈{I ′
1, . . . , I

′
m}|Ψ|{I1, . . . , In}〉i1...in,L

�#��# ��� �������� ����
�� ���� �������

FΨ
m+n(θ̃′m + iπ, . . . , θ̃′1 + iπ, θ̃1, . . . , θ̃n)jm...j1i1...in

�#��� θ̃i �
� θ̃′j ��
��� �#� ���������� �.���
�� �� �������
� �� �#� ����������� 1��#����
�

�2�����
� �� �#� ��%�
 %���� �� �#� %�����	 7� �#��� ������ ��� �#��# �#� 
�������- ����
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�� ���� ������� ��� ������ ��������� � � �!���"#�� ����$�"� �� ���� #����#�"���� % �

����$�"# ����"#�"��� &��� #������� �� %'() ���� ��� �� �������� ����"* ���!���� % �$

�+���,�� � � �*��#��� +� �,"�� �� ���� #����#�"��� �� A1 ��� A2- "� � � ������ #���

� �$ &��� ���� �+�� �� ,��"�$ � � ./����� 0� � � �� ��  ���1 � � ���#"�"�� �� � �"� %'()

���� &�� ��� �!2#"��� �� ���# ,��!��� & ��� � � μ/���� ��� A3 #�!��  �,� +��� �������

% "� �"�"���"�� "� � ���!��� #����3!��#� �� � � !�!�!���$ ����� �*������ μ3
114 � � ��*�/

��/����"�5 #����"+!�"�� "� �� ����� e−2μ3
11L1 ��"�� ,��$ ���&�$ ��#�$"�5�

6� �����$ � � %.'() ��!�"��� � �� &��� �!##����!��$ !��� "� � � ���,"�!� # ������

'��#!���"��� ��� ��������� ��� I = 0, 1, 2, 3 �� �"7����� ,��!�� �� � � ,��!��� 0��/����"#��

������ �� A11 A2 ��� A3 ��� ���"�$ "����"8��4 � �$ ��� � � ��&��� �$"�5 ��,��� "� � � ���#/

��!�1 �*#��� ��� I = 0 & ��� � � ��&��� ����� "� � � ,�#!!�� 6� !�� � � �"����"������

3!���"�"�� l = m1L ��� e = E/m1�

% � ���!��� ��� �*���������� ���� ecut = 20..30 �� ecut = ∞� 9*���"��#� ���� � �

���,"�!� ���!��� � �&� � �� � "� �*��������"�� ��# �"3!� ���!#�� � � �!���"#�� ������ +$

�� ����� �� ��5�"�!��� 6� ���"5�  ��� ���� 3!���"���",��$ ���"���"�5 � � %'() ������

��� #������"� �!����,�� �� � ���5� �� � � ,��!�� ��������� & ��� "� "� ���� �� ��5��#�

��!�#��"�� �7�#���

A3

6� +�5"� �!� ����$�"� &"� � � ���� "�������"�5 #��� �� A3� )� ��# ,��!� �� l ��� I

� � �����&"�5 ���#��!�� "� ����������

• % � ����5$ #����#�"�� "� #��#!����� �##���"�5 �� ����	


• % � 3!���"���"�� #���"�"�� ����
 "� ���,�� ��� u ��� � � ����5$ #����#�"�� "� #��#!/

����� +$

Δe = 2 cosh(θ) cos(u) − e0

& ��� θ "� ������"��� +$ � � ����� ������!� 3!���"���"�� ����
 ��� e0 "� � �

���"���$ ���/����"#�� ����5$�

• % � �*�#� #����#�"�� "� #��#!����� �!���"#���$ +$ Δe = eTCSA − e0�

% � # �"#� ��� � � ���5� �� � � ,��!��� "� �"�"��� "� �&� &�$�� 0� ���  ���1 l  �� ��

+� �!2#"����$ ���5� "� ����� �� ���!#� � � #����"+!�"�� �� � � . ����� ��� �� ��  "5 ��

����� 8�"�� �"�� #����#�"���� 0� � � �� ��  ���1 �!���"#�� ������ 5��& &"� � � ,��!��
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����$ "����� �������"�� %�
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�� &��
� ���� ������
����' �����
��� �� �� �����

"��� �� l	 ��� %�� �% l = 30..40 �� ���
�"�� ��� ��� ��������	
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� ��� ���%� �� &���� �	
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 �� ����� 
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�� μ�
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�� ������


��� ��
��� �� 
�� L → ∞ ����
	 )�%����' ������ �� �� 
���� ����� � �����&���
  ����
���

��� l < 40' %���� �� �� 
��� ������
��$  �����"� "$ 
�� "��� �
�
� ��� ��
���	 ��� ����
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�� ������
���  ���� � �� 
�� ����
$ �� I �� ��� ��
� "$ ��	
*�	

+��� �� 
�� ������� �� 
��� &��
 ��������� 
��
 %� ���� �!����� 
�� ������ l < 30	

(�����
��� 
�� "������� �� u �� � ����
��� �� l ������� �� ��
����
��� ����������	 (
 ��

�"����� ���� ��	

� 
��
 u(l) �� ����
������$ ���������� �� I �� �  ' %�
� 
�� ��&��
�

������ ����
 &!� 
� ūa
ac	 )�%����' 
�� ������! ���,���
� ���� θ1,2 ���������� 
�� ����

�!�� �� l ��  ������� �� 
��$ ����� � �
 � ���
���� ������ l = lc	 ��� l < lc 
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�
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�� A3 
����������� ������ �� ����
�� I = 0 . . . 3 �� � ������
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� ��� �
����
 �
��

��������� ���� ���� !���� ��� ����� ��
! ��� �
�����
����� ��������
� 
� ��� A1A1

"
��� ����� #�����$���
�
 %� ����
�� I = 1 ��� I = 3 ��� "
��� ����� ����
������ �� lc ���

�
� l < lc � �
������
��� A1A1 ���������� ����� �������� A3 �� ��� ��������
 ��� ������ 
�

lc ��� ��
!� "& ��� �!
 ���
!�


��� ����� 
� lc ��� "� �
��� "& �'��
����� ��� ���� ���� ��� (��
"��� 
� ��� )�����*���

�#����
�� +���!�� �� � ������� ��
� (θ1, θ2) �
 (I1, I2), �������� �� ��� �������� �
���
 �

���������
�!��� ���������
� &�����

lc =
√

4ϕ11(0)2 − I2π2

!���� ϕ11(θ) = δ′11(θ)
 ��� ��������� ������ �
� ��� ���� �� ���� ���

lc = 27.887 (I = 1) ��� lc = 26.434 (I = 3)
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! �� ��� �
����
� �
 �
������ ��� ��������� ����&���
 ��� )������#����
��

��� �
���� �� ���� ����� 
� l ��
������ �!
 �������� ���� ���������� �
� l < lc +!��� I "����


��, ��� � �
����' �
�.����� ���� 
����!���
 ��� �����& �� ���������� �� ������ ���� ��

e = cosh(θ1) + cosh(θ2)

!���� �� �
������ �
 ���� ����
 ��� ������� ��� �'��"���� �� /���� 	
�


��� ��������� �
� ��� ����� �!
 ������ +I = 1 ��� I = 3, �� �
� �� ���������� ��

�� ��& ���� "������ !��� 
�� ���� ���� ��� �
������
��� A1A1 ���������� ������
 ���

)�����*��� �#����
� ����������� ����� �����& �� �'��� �� �
 O(e−μ′L) !���� μ′ = μ1
11 ��
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���� ��� ���������
 �� ���� �� ������� �� �� O(e−μ1
11L) ���
 ��� L > Lc� !������
� ���


�������	 ��	��� �
� �
�� μ1
11 > 8μ3

11� "� ��
�	��� ���� ��� #��
� ����� ������� �
����

�����
�� ��� �
��� ��	��� ���������
� �� �� ��� ���� ��� ������ �
 e−μc
aaL ���� ���� $ ������

�
 ��� ���� �� ��
� �

A1 ��� A2

%�����	�� A1 �
� A2 �	�� ������ �� A1A1 #��
� ������� &������� ����� �� 
� ���
�

�
 ���	��
� ��� ����	��� #��
� ����� ���
��'����
 �� ����� #������ ��� ����� �����

����
��� ���� ��� ������ ����� ��
���#����
� ���� ���� ( ��� �
��
�
�� �� ��� ��#)	����
�

�
��� ��'� ���������
� m1 �
� μ2
12 ��� ���		�� ���
 2μ1

11 �
� 2μ2
11� *�������	���� ��� 	����
�

μ)���� ��
 #� ������� #� ������
� �����#	� ��
���� �
 l�

+
 ������ ��, �
� ��$ 	��(|Δe|) �� �	����� ����
�� ��� ���������
 �� ���-. ��� l = 6..16

�
� l = 6..22� ���� ���
 �� Δe ��� ���
� �� #� �
 �������
�� ���� ���-. ��� #��� A1 �
�

A2 

+
 ��� ���� �� A1 ������� �������
� �� �#������ ��� l = 10..18 �
 ��� ������� I = 0

�
� I = 1� /�� I = 2 �
� I = 3 ��� �
���� ���������
� #����� ��� ���		 �
� ���������

�
�������#	� �� 0!12 �
��� ���� ��� ���������
 ��� I = 3 �� �� ����� 10−6 �

+
 ��� ���� �� A2 ������� �������
� �� ���
� ��� l = 14..22 �
 �		 ���� ��������

A5

&��� �� �����
� �
 �
�������
� ��	��	����
 ���� �������
�� ��� 	����
� ���� ���������
�

�� A5� 0�� ���
���� �����	�� ��� �
���	���#	� �
 ���� ����� #������ m5 	��� �#��� ��� ���)

������	� �������	�� &������� �� �� �
��������� �� ��
����� ��� ����������
 �� A5 �
��� ���

#�������� ���
���	� �
� �� ���	���� ��� μ)���� ���������
�

0���� ��� ��� ��	���
� �����
�

A1A3 → A5 ���� μ5
13 = 0.2079

A2A2 → A5 ���� μ5
22 = 0.6581

*�������	 ���	�����
 �� �3�����4� �����	� ��� ��� μ)���� ����� ���� ��� ��
���#����
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� ���	�� �

���
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�� ���
 �������� �� 0!12 ����� 0��� ���	��� �� ��

����� �� ���
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� �� ��
 #� �
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 ����� �� ��� #��
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�

5
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�� ���� A3 �������� ���� �
� ����	� ���� ��6� �
�� �����
� ��� �
���� ���������
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�� A3 �
� ��
����� ��� A1A3 → A5 �����
 ����������� A3 ��
 #� ��	�� �
�� A1A1 	����
�

�� ��� 7����	� #��
� �����7 A1A1A1 → A5� +
 �
�
��� ��	��� �
� ��� ���� �	�� ��� -�- �� 

|θ〉5 ∼
∣∣θ − 2iū3

11, θ, θ + 2iū3
11

〉
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��� &
��� ������ ����������
 �� ���� ���
��&�����
 �� ���� �����' ������� ��� �
 ��� I = 0

������  ���

|{0}〉5,L ∼ |{0, 0, 0}〉111,L

�����
� �� ��� �����!�������� (����!)�
� �������
�  ��� ���������� (iu, 0,−iu)�

e−m1 sin(u)LS11(iu)S11(2iu) = 1

S11(iu)S11(−iu) = 1

em1 sin(u)LS11(−iu)S11(−2iu) = 1

��� ����
� �������
 �� ������������' �����&�� ��� �� �
������' �
� ���� �
��'�����'*

 ������ ��� &��� �
� ��� ����� ��� ��������
� �
� ���' ����� �� � ���
�������
 ��
��!

���
 ��� u
 ��� &
��� ������ ���� �� A5 �� ����
 �
 ����� �� ��� �������
 %'

m5(l) = 2 cos(u) + 1 "	
+�#

,
 ��� ����� L ����� ��� �
&
��� ������ ���� �� ���������� %' u → 2ū3
11
 ������ 	
�

����
������� ��� �������
� %�� ��
 ���� �
� ��� ���������
 �� "	
+�#


��� �����%����' �� �����
� ��� ���
�������
 �� ��� ������ %��
� ����� �
 � ����
� �����

���-� ���' �������
�
 ,
 ��� ��
���� ���� ��� ���������� ��� �.������ �� ��-� ��� ����

(θ1 + iu, θ2, θ1 − iu)  ���� θ1 �
� θ2 �� 
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����
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E = −im(sinh θ0 − sinh θ̄0) −
∫ ∞

−∞

dθ

2π
m cosh(θ)L(θ) ()�*)+

ε(θ) = mR cosh θ + log
S(θ − θ0)

S(θ − θ̄0)
− (ϕ � L)(θ) ()�*�+

�����

S(θ) =
sinh(θ) + i sin(π/3)

sinh(θ) − i sin(π/3)
ϕ(θ) = −i

∂S(θ)

∂θ

�
�

L(θ) = log(1 + e−ε(θ)) �
� (f � g)(θ) =

∫ ∞

−∞

dθ′

2π
f(θ − θ′)g(θ′)
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ε(θ0) = mR cosh θ0 + iπ − log(S(2i.�θ0)) − (ϕ � L)(θ) = i(2n + 1)π ()�* +
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 ���� �
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����� �
� �
� �����
	 .�θ0 = π/6 + δ �����

δ �	 �#��
�
���

� 	��

� "� /����� ����� �
� �
	� ��	

mR cosh(0�θ0) = (4n + (1 − 	��
δ))π

����� �	 ��� ����
��� �
��������
� &��
��/����
 ��
�����
 ���� I = 2n + 1
2
(1 − 	��
δ)�
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� ��� ��
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 �' ��� �
�����
 �
 ()�*)+ �
� 	��	������
� θ0 = θ + iu �
� ��	

E = 2m sin(u) cosh(θ)� "��	 �	 �#���
� ��� �
���� �' �
 AA ���
� 	���� ���� ��� �����
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 ������������ �� ��� ����� ����� �������

��� �	 ��
	���� � 	�������
� 	���� |{I, I1, . . . , In}〉cb1...bn,L �����	�� �' n + 1 ������
�	�

��� -�	� �
� ���
� Ac� "�� �
���� �' ���	 	���� �	 ��
��
���� �	

E =

n∑
j=1

mij cosh(θ̄j) + . . . ()�*3+

����� (θ̄, θ̄1, . . . , θ̄n) �	 ��� 	�
����
 �' ��� $�������
� �&�����
	

Qj(θ1, . . . , θn) = mij sinh(θj)L +
∑
k �=j

δijik(θj − θk) = 2πIj j = 1 . . . n ()�*�+
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 ���� �� �
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AaAa ���	� ����� ������ ��� �	
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� ��
��� �
������� �� �����

|{I, I1, . . . , In}〉cb1...bn,L ∼ |{I/2, I/2, I1, . . . , In}〉aab1...bn,L ������
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�	 �������	�� �� �	������ ��	��	�����	 �� �
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�!�����	�� �
�� ����

e−ma sin(u) cosh(θ)Leima cos(u) sinh(θ)LSaa(2iu)

n∏
j=1

Sabj
(θ + iu − θj) = 1 ���"#�

ema sin(u) cosh(θ)Leima cos(u) sinh(θ)LSaa(−2iu)
n∏

j=1

Sabj
(θ − iu − θj) = 1 ���"��

eimbj
sinh(θj)LSabj

(θj − θ − iu)Sabj
(θj − θ + iu)

n∏
k=1
k �=j

Sbjbk
(θj − θk) = 1 ���""�

�
� ����	��� n + 1 �������� ���
���!�����	� ��� ���������� �	 �
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 ���"#� �	� ���"�� �	� ��$�	
 ��� �� �
� ��������� �!�����	

Scbj
(θ) = Sabj

(θ + iūa
ac)Sabj

(θ − iūa
ac)
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Δu = u − ūa
ac =

(Γc
aa)

2

2
e−μ cosh(θ̄)Leimc sinh(θ̄)L/2

n∏
j=1

Sabj
(θ̄ + iūa

ac − θ̄j) ���"&�

'��������	
 ���"#� �	� ���"��

ei2ma cos(u) sinh(θ)L
n∏

j=1

Sabj
(θ − iu − θj)Sabj

(θ + iu − θj) = 1 ���"��

eimbj
sinh(θj)LSabj

(θj − θ − iu)Sabj
(θj − θ + iu)

n∏
k=1
k �=j

Sbjbk
(θj − θk) = 1 ���"(�

)�� �� ��*	�

Sabj
(θ − iu − θj)Sabj

(θ + iu − θj) ≈ Scbj
(θ − θj)e

iΔuϕ̄cbj
(θ−θj)

�
���

ϕ̄cbj
(θ) = iϕcbj

(θ + iūa
ac) − iϕcbj

(θ − iūa
ac) ���
 ϕab(θ) = δ′ab(θ)



��� ������� �	 ��
��
�� ������ 
��� ������


����� 2ma cos(u) ≈ mc − 2μc
aaΔu ��� 	
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� ������ ��� ������ ��� �� ������� ��

Q0(θ, θ1, . . . , θn) =

(
2μc

aa sinh(θ)L −
n∑

j=1

ϕ̄cbj
(θ − θj)

)
Δu

Qj(θ, θ1, . . . , θn) = ϕ̄cbj
(θ − θj)Δu

��� 	��� ��� �� �������� ��
��� ��� n + 1 ������	� �
	���
� (θ̄, θ̄n, . . . , θ̄n) �
 ������ ��⎛
⎜⎜⎜⎜⎝

θ − θ̄

θ1 − θ̄1

���

θn − θ̄n

⎞
⎟⎟⎟⎟⎠ =

(J (n+1)
)−1

⎛
⎜⎜⎜⎜⎝

2μc
aa sinh(θ̄)L −∑n

j=1 ϕ̄cbj
(θ̄ − θ̄j)

ϕ̄cb1(θ̄ − θ̄1)
���

ϕ̄cbn
(θ̄ − θ̄n)

⎞
⎟⎟⎟⎟⎠Δu ������

�����

J (n+1)
kl =

∂Qk

∂θl

��� ���	 ����	� �
� ��� ����� �
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ΔE = −2μc
aa cosh(θ̄)Δu+

⎛
⎜⎜⎜⎜⎝

mc sinh(θ̄)

mb1 sinh(θ̄1)
���

mbn
sinh(θ̄n)

⎞
⎟⎟⎟⎟⎠
(J n+1

)−1

⎛
⎜⎜⎜⎜⎝

2μc
aa sinh(θ̄)L −∑n

j=1 ϕ̄cbj
(θ̄ − θ̄j)

ϕ̄cb1(θ̄ − θ̄1)
���

ϕ̄cbn
(θ̄ − θ̄n)

⎞
⎟⎟⎟⎟⎠Δu
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′
m}|O(0, 0)|{I1, . . . , In}〉i1...in,L =

FO(θ̄′m + iπ, . . . , θ̄′1 + iπ, θ̄1, . . . , θ̄n)jm...j1i1...in√
ρi1...in(θ̄1, . . . , θ̄n)ρj1...jm
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′
m)

+ O(e−μ′L) *��+.-

���
� 	�� 
��
�
	
�� θ̄ �
� ����	
��� �� 	�� ��

������
�� ��	������� ����	
���� /�
� ��

���� � ��
 �
 ��
�
	$& 	��	 	��
� �
� �� �
�������	�� 	�
 � �
����	& 
�� 
	 
� �������� 	��	

θ̄j �= θ̄′k �������
 ij = ik�

����� �� ����
�� �
�� ��	� 
	 ��� ����� 
� ��"���	
�� +�+�0 	��	 μ′ ≥ μ ���
� μ 
�

��	�
 
��� "$ 	�� ���� �� 	�� 1� �	

� ������	 	� 	�� ��$�
��� �
��� 2 �$�	� �	
� ��
	�

���� � ��
	�
"�	
�� 	���
$ *34����
5�  �	��� ����
�� 	� ��
 ���	�
�- 
� ��	 ���
��"���

/�����
& 
	 
� �����	�� 	��	 	�� ��	��� ����� �� μ′ ������� �� ���	 �
��
� � ���	

"�	�

	� 	�� ��
 ���	�
 
� ����	
��� 2��
	 �
� 	�� 
���
	
�� �� 	�� ����� ���
�	�
 	��$ ��
��
��

�
	� 	�� �
��
� � ��	�
 
�
�� 	�� ��
	� �
#� ��

��	
��� �� 	��  ��	
���
	
��� �	�	�� ���
��

��
� μ′ 
� �����
�	�� 	� 	�� "���� �	�	� �	
��	�
� �� 	�� ����	
	���	� �� 	��  ��	
���
	
���

�	�	��

'� 	�
� ���	
�� �� ���� 	��	 	�� ����
�� ��

��	
�� 	�
 ��� "� �"	�
��� "$ 	�� "����

�	�	� ����	
#�	
���



��� ������� �	 ��
��
�� ������ 
��� ������


����� �����	
��
 �	�����
���� ���� ���
���

������ 	
��
� � �
���� ���

��
�� ��� ��� ���������	 ��������
��� ���� �������

FO
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EL
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S ′

aa(2iu)

Saa(2iu)
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ac� ��
�� &� ��� ���

�#��	� � 	#��� �� 	

��� 	�

FO
c (I, L) =

FO(θ − iu, θ + iu)aa√
Saa(−2iu)ρaa(θ + iu, θ − iu)

������

��� ��
� �	���
 	#���� ����
 ��	�

lim
u→ūa
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ac) + O(e−2μL) ��� E1E2 =

m2
a

m2
c

E2
c − μ2


�� ���� ���	�
 �� 
���� ��

FO
c (I, L) =

FO
c√

E0
c L

− 2iΓc
aa

(
FO

aa

)′√
E0

c L
(u − ūa
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ac)

FO(θ, θ1, . . . , θn)cb1...bn
+ O(1)

� 	 ����������� �� ρ(n+2) �� ��#	� !�

+	�u→ūa
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dθ1 . . . dθn FO1

n (θ1 . . . θn)FO2
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〈O〉R =

∞∑
n=0

1

n!

1

(2π)n

∫ [
n∏

i=1

dθi
e−ε(θi)

1 + e−ε(θi)

]
F c

2n(θ1, ..., θn) 2���3
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�
 F c
2n �� ��
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��
� ����
��� �
�� ����
� �
��
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4�� 2��#)3 ��� ε(θ) �� ��
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ε(θ) = mR cosh(θ) −
∫

dθ′

2π
ϕ(θ − θ′) log(1 + e−ε(θ′)) 2��13
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ε(θ) = mR cosh(θ) −
∫

dθ′

2π
ϕ(θ − θ′)e−mR cosh θ′ +

1

2

∫
dθ′

2π
ϕ(θ − θ′)e−2mR cosh θ′ +

+

∫
dθ′

2π

dθ′′

2π
ϕ(θ − θ′)ϕ(θ′ − θ′′)e−mR cosh θ′e−mR cosh θ′′ + O

(
e−3mR

)
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〈O〉R = 〈O〉 +

∫
dθ

2π
F c

2

(
e−mR cosh θ − e−2mR cosh θ

)
+

1

2

∫
dθ1

2π

dθ2

2π
(F c

4 (θ1, θ2) + 2Φ(θ1 − θ2)F
c
2 ) e−mR cosh θ1e−mR cosh θ2

+O
(
e−3mR

)
2��)3
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〈O〉R = 〈O〉 +

∫
dθ

2π
F s

2

(
e−mR cosh θ − e−2mR cosh θ

)
+

1

2

∫
dθ1

2π

dθ2

2π
F s

4 (θ1, θ2)e
−mR(cosh θ1+cosh θ2) + O

(
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∫
dθ1

2π

dθ2

2π

dθ3

2π
F s

6 (θ1, θ2, θ3)e
−mR(cosh θ1+cosh θ2+cosh θ3)

−
∫

dθ1

2π

dθ2

2π
F s

4 (θ1, θ2)e
−mR(cosh θ1+2 cosh θ2) +

∫
dθ1

2π
F s

2 e−3mR cosh θ1

−1

2

∫
dθ1

2π

dθ2

2π
F s

2 ϕ(θ1 − θ2)e
−mR(cosh θ1+2 cosh θ2) ����&�
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(2π)n
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dθi
e−mR cosh θi

1 + e−mR cosh θi

]
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dθ
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e−mR cosh θ − e−2mR cosh θ
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∫
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dθ2

2π
F s
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(
e−3mR
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∫
dθ1

2π

dθ2

2π

dθ3

2π
F s

6 (θ1, θ2, θ3)e
−mR(cosh θ1+cosh θ2+cosh θ3)
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dθ1

2π

dθ2

2π
F s
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�� �
� $��
�%&	�� �'�	����� (�� n �	����
�� ���
 '�	���� �������

I1, . . . , In 	� �
� ����� ��
��� L� �� �	� !���
�� �
� 
�� ������	���� ���	����� �( ������

�� ������ �( e−mR �����

��L
(
e−RHLO) = 〈O〉L +

∑
θ(1)

e−mR cosh θ(1)〈θ(1)|O|θ(1)〉L

+
1

2

∑
θ
(2)
1 ,θ

(2)
2

′

e−mR(cosh θ
(2)
1 +cosh θ

(2)
2 )〈θ(2)

1 , θ
(2)
2 |O|θ(2)

1 , θ
(2)
2 〉L +

+
1

6

∑
θ
(3)
1 ,θ

(3)
2 ,θ

(3)
3

′

e−mR(cosh θ
(3)
1 +cosh θ

(3)
2 +cosh θ

(3)
3 )〈θ(3)

1 , θ
(3)
2 , θ

(3)
3 |O|θ(3)

1 , θ
(3)
2 , θ

(3)
3 〉L

+O(e−4mR) ������

	�!

��L
(
e−RHL

)
= 1 +

∑
θ(1)

e−mR cosh(θ(1)) +
1

2

∑
θ
(2)
1 ,θ

(2)
2

′

e−mR(cosh(θ
(2)
1 )+cosh(θ

(2)
2 ))

+
1

6

∑
θ
(3)
1 ,θ

(3)
2 ,θ

(3)
3

′

e−mR(cosh θ
(3)
1 +cosh θ

(3)
2 +cosh θ

(3)
3 ) + O(e−4mR) ����)�

�
� !������	��� �( ������ �	� �
�� �� �	��
* ���	�!�!�

1

��L (e−RHL)
= 1 −

∑
θ(1)

e−mR cosh θ(1)

+

(∑
θ(1)

e−mR cosh θ(1)

)2

− 1

2

∑
θ
(2)
1 ,θ

(2)
2

′

e−mR(cosh θ
(2)
1 +cosh θ

(2)
2 )

−
(∑

θ(1)

e−mR cosh θ(1)

)3

+

(∑
θ(1)

e−mR cosh θ(1)

) ∑
θ
(2)
1 ,θ

(2)
2

′

e−mR(cosh θ
(2)
1 +cosh θ

(2)
2 )

−1

6

∑
θ
(3)
1 ,θ

(3)
2 ,θ

(3)
3

′

e−mR(cosh θ
(3)
1 +cosh θ

(3)
2 +cosh θ

(3)
3 ) + O(e−4mR) ������
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 	���
 ���� ���	
 �� ����� ��� ��� �� ��� ���������
 �������� ��� ����
���� ���

n��������� ���	
 ��  !��!" ���  !��#" ���� � 1/n! ���������� ����� ��$�
 ���� ����
�� ����

��%����� �������� �� ��� 
�	� ���������
 ���� ��� 
�	� 
����& �
 ��� �����
��� �������


���� �������� 	����� ���	���
� ���
�
 ��

����� ���	 ���������� ��� ��������
 ������� ���


���� ������
 �� ��� �������� ��������
 �������� ��� �
	��� �� ��������
 �� ��� �������� '����

���
	� 
����
& ���
 �
 ����� �� �� ����� ���� ��������� ��� ��
����� 

	
 ���� ��������



���� �� $���
 ����$ �� ����� 	
������������ 
���� ���
��� �
 ���������

(� ��
� ���� �� �����
��� �� ��� '���� ���
	� 	����� ���	���
 �� ���������
 ���� ���

��� ����

����� 
��
����
 �� ��� ����������� )�����*��� ��
�����
� ��� ���
���� ��������

������
����� �
 
�	��� ����� �� ����  +�,#"

〈θ1, . . . , θn|O|θ1, . . . , θn〉L =
1

ρn(θ1, . . . , θn)L

∑
A⊂{1,2,...n}

F s
2|A|({θi}i∈A)ρn−|A|({θi}i/∈A)L+O(e−μL)

 !���"

����� �� 	��� �������� ��� ���
	� ���������� �� ��� n��������� ���
��� ������
� ��� ��
�

���	 
����
 �
 � ��	����� ���� ���
 ���
�������� ���� ��'��
 ��� ���	 ������ �� ��� �����


�� 1/L  ���� 
� �� ��
��
�� '���� 
�-� ����������
"� �
� ���
 �
 

.����� �� ������	 ���

��	�
������
 �� ��� 
��
���

/
��� ��� ������� �������� �� ��� n��������� 
���� ���
���� �������
����
 ���	 ��� n�

�������� 
����� 
���� �
 Ln� ��� ��� ��� 
����
 �����
���
  !��!"�  !��#" ���  !��0" �� �


����

��� ���� mL � emR� 1������ �� mR �
 ��� ���
�� ����� ��	���
 � ����� ��������

1 � mL � emR

����� ��� �����
���
 ��� �������� �� �� ������ ����� 

�
���
���� ���
� �����
���
 ����

 !��2" �� ���� '�� ����� �� ����� ���� ��� ������� ���	 �� ��� ��� ��

�� �
 O(L0)� ��� ���

����������
 
���� �
 �������� �����
 �� L� ��������� ��  !��2" �� ��� ������
� ������������

�� ����� L ��� ��$� ��� L → ∞ ��	���

3� �
 �� ������
���� �
�
���� ��� ���
 ��	�� ���
�
� �� �� �� 	��� �����
�� ��� �� ���	

������
 ���� ��� �
	��� �� ��������
 �����	��� ��� ������� ���	
 �� ��� ������	�����
��

�����
���� �
 � 	����� �� ����� ��� �������� ���
��� N/L ��
 � ��������
���� L → ∞ ��	���

��� ����	�� ������� �
 ��������� ��	������ �� ����	�����	�� ���'�
������
 ����� ���

�������� �
	��� ����
 ������������ ���� ��� ���
	�� 1������� ��� ������� �������
����


��	� ���	 ��
��������� ���	
 ��� ���� 
���� ������� ���	 ������
 ���� � ��� �
	��� ��

��������
� �
 �� ��
 ������� �
� �� 4��!5�



���� �����	
�	�
���	 	��
����� ��� ��	 ��	������ �������� ���

����� �����	
���
 �� ����� e−mR

������������ �	
 ���
��
���
 �

�� �
�� ������ ��� ������ ���� ������ ���
� �	
 

����

〈O〉RL = 〈O〉L +
∑
θ(1)

e−mR cosh θ(1) (〈θ(1)|O|θ(1)〉L − 〈O〉L
)

+ O(e−2mR)

������ �	
 L → ∞ ����� ��
 ��� 

����
 �	
 ��������� ���	 �� ���
�
�� ��

 �	
 ����
�

�� �	
 
������� ����
 ∑
i

→
∫

dθ

2π
ρ1(θ)

��� ����� �!�"!� �
 ��� �
��


ρ1(θ) (〈θ|O|θ〉L − 〈O〉L) = F s
2 + O(e−μL) ����#�

�� �
 ������

〈O〉R = 〈O〉 +

∫
dθ

2π
F s

2 e−mR cosh θ + O(e−2mR)

�	��	 �������
� ���	 
$�� ���#� �� �	�� �
�

�

����� ������	
��� �
 ����� e−2mR

������������ ����� �	
 ���
��
���
 �

�� �
�� ������ ��� ������ ���� ������ ���
� �	




����

〈O〉RL = 〈O〉L +
∑
θ(1)

e−mR cosh θ(1) (〈θ(1)|O|θ(1)〉L − 〈O〉L
)

−

⎛
⎜⎝∑

θ
(1)
1

e−mR cosh θ
(1)
1

⎞
⎟⎠
⎛
⎜⎝∑

θ
(1)
2

e−mR cosh θ
(1)
2

(
〈θ(1)

2 |O|θ(1)
2 〉L − 〈O〉L

)⎞⎟⎠
+

1

2

∑
θ
(2)
1 ,θ

(2)
2

′

e−mR(cosh θ
(2)
1 +cosh θ

(2)
2 )

(
〈θ(2)

1 , θ
(2)
2 |O|θ(2)

1 , θ
(2)
2 〉L − 〈O〉L

)
+ O(e−3mR)

�	
 O(e−2mR) �

�� ��� �
 

�

���
� �� �������� %
 ��� ��� ����
��� � �

� �� 

���


�	
 �����
���� �
�� �	
 ���&��
����
 ��� 

+
1

2

∑
θ
(2)
1 ,θ

(2)
2

e−mR(cosh θ
(2)
1 +cosh θ

(2)
2 )

(
〈θ(2)

1 , θ
(2)
2 |O|θ(2)

1 , θ
(2)
2 〉L − 〈O〉L

)

−1

2

∑
θ
(2)
1 =θ

(2)
2

e−2mR cosh θ
(2)
1

(
〈θ(2)

1 , θ
(2)
1 |O|θ(2)

1 , θ
(2)
1 〉L − 〈O〉L

)

−1

2

∑
θ
(1)
1

∑
θ
(1)
2

e−mR(cosh θ
(1)
1 +cosh θ

(1)
2 )
(
〈θ(1)

1 |O|θ(1)
1 〉L + 〈θ(1)

2 |O|θ(1)
2 〉L − 2〈O〉L

)



��� ������� �	 �
�������

 ��
���

� �� ��
��� �����������

��� θ
(2)
1 = θ

(2)
2 ���	
 �����

��� �� ��
������ �� 
�	� 

�����
 ����
������� 
����
 ����

����� ����� ������	 ��	���
 ��� ��� ��� 
�������
 �I1 = I2�� ��� ����
������� ������

���� ��������
 �� ���
 ��
� ����������
 �� ��� ����
������� ��
� ��
 ��
��

�� ������� ���

	���� ���	���
 ��� �� ��!��� ��� ���
� "
����
# ������� ��$ 
�����	
 
���� �� ��%�

��� ����$��� ���	��� �&��'� %���� �� ��$ ����� �� 1/L�� ���
 ��
� 	���
 ���� ��� ���
��$

����%��� �� ��� �������� ����
������� 
�	 �
 ρ1 ��� 
� ��� ����� L �� ��� 
��
������ ���


�	
 ���� ��� ��������� ��������
∑
θ
(1)
1,2

→
∫

dθ1,2

2π
ρ1(θ1,2) ,

∑
θ
(2)
1 =θ

(2)
2

→
∫

dθ

2π
ρ1(θ) ,

∑
θ
(2)
1 ,θ

(2)
2

→
∫

dθ1

2π

dθ2

2π
ρ2(θ1., θ2)

(�� �
 � 
��

 ��� !���� %���	� 	���� ���	���
 �� ���	
 �� ���	 ������
 �
��� ���)�� ���

���))�*

ρ2(θ1, θ2)
(
〈θ(2)

1 , θ
(2)
2 |O|θ(2)

1 , θ
(2)
2 〉L − 〈O〉L

)
−ρ1 (θ1) ρ1 (θ2) (〈θ1|O|θ1〉L + 〈θ2|O|θ2〉L − 2〈O〉L) = F s

4 (θ1, θ2) + O(e−μL)

+�	������ ��� ���%� �������� ���� �&��,�� �� ��
� ��%�

〈θ, θ|O|θ, θ〉L − 〈O〉L =
2ρ1 (θ)

ρ2(θ, θ)
F s

2 + O(e−μL)

����� �� �
�� ���� F s
4 (θ, θ) = 0� ����� �
 -�
� ��� � ���
��� 
��
���$ 	������ ����� ����

���)&�� .��� ����
ρ1(θ)

2

ρ2(θ, θ)
= 1 + O(L−1)

��� ��������� �� ��� ��	�� L → ∞ �� ������

−
∫

dθ

2π
e−2mR cosh θF s

2 +
1

2

∫
dθ1

2π

dθ2

2π
F s

4 (θ1, θ2)e
−mR(cosh θ1+cosh θ2)

����� �
 ����� �� ��� ����%��� ������������
 �� ��� (�+�����/�

���� � 
��
��� �&�,��

����� �����	
���
 �� ����� e−3mR

0� ����� �� 
������ ��� 
��
��������� �� ��������� 
�	� ������� ���%������ ��������
*

Ei = m cosh θi

〈θ1, . . . , θn|O|θ1, . . . , θn〉L = 〈1 . . . n|O|1 . . . n〉L
ρn(θ1, . . . , θn) = ρ(1 . . . n)

1�		�����
 ���� �� 
�������� �� ∑
θ1...θn

→
∑
1...n∑

θ1...θn

′ →
∑
1...n

′



���� �����	
�	�
���	 	��
����� ��� ��	 ��	������ �������� ���

����� �	�
� ��������

 �� ��� �������� ������ ���	 ������ ��� ������� �	� �	��� �����

���������� ����
�

1

6

∑
123

′

e−R(E1+E2+E3) (〈123|O|123〉L − 〈O〉L)

−
(∑

1

e−RE1

)
1

2

∑
23

′

e−R(E2+E3) (〈23|O|23〉L − 〈O〉L)

+

{(∑
1

e−RE1

)(∑
2

e−RE2

)
− 1

2

∑
12

′

e−R(E1+E2)

}(∑
3

e−RE3

)
(〈3|O|3〉L − 〈O〉L)

�� ���� ����� �� �	� 
���� ���
����

 �� ����� ��� ����! �������� 
��
� "�� �� �������

�	� ���
������� 
��������
  � ���� 
��
 ���	 �	� ���!���� ������ �����
 
� ��������∑
12

′

=
∑
12

−
∑
1=2∑

123

′

=
∑
123

−
(∑

1=2,3

+
∑
2=3,1

+
∑
1=3,2

)
+ 2

∑
1=2=3

�	��� �	� ���!���� ������ �����
 ��� �� ���� �� 
	�� �	��	 ���!���� �� 
��
 ����
  ��

��	����
� �	� !���� 
�� �
 ����
 ��!� ∑
1=2,3


	��
 � 
�������� ���� ��� �������
 θ
(3)
1 , θ

(3)
2 , θ

(3)
3 �	��� θ

(3)
1 = θ

(3)
2 ��� θ

(3)
3 ���
 ���� ���

��� ��
�  � �#��� ���	 �	� ��	�� ����� $� ��
� ���� �
� �� �	� ��������

F (12 . . . n) = F s
2n(θ1, . . . , θn)


� �	� ����

��� �����% �������
 ���  � ������� �� �	� ����

ρ(123) (〈123|O|123〉L − 〈O〉L) = F (123) + ρ(1)F (23) + · · ·+ ρ(12)F (3) + . . .

ρ(122) (〈122|O|122〉L − 〈O〉L) = 2ρ(2)F (12) + 2ρ(12)F (3) + ρ(22)F (1)

ρ(111) (〈111|O|111〉L − 〈O〉L) = 3ρ(111)F (1)

ρ(12) (〈12|O|12〉L − 〈O〉L) = F (12) + ρ(1)F (2) + ρ(2)F (1)

ρ(11) (〈11|O|11〉L − 〈O〉L) = 2ρ(1)F (1)

ρ(1) (〈1|O|1〉L − 〈O〉L) = F (1) ����&�

�	��� �� �
�� �	�� F ��� ρ ��� �������� 
�������� �� ��� �	��� ��!�����

 ��� �	� �����
�


�� �	� �	� '�
� ���� ������ ��� ���
 ��� ����
 �� �	� 
��� ����
  �� ���	 ��(�����

�����������! �� �	� ���������

 �	��	 ���  � � ������  � ������ ����������� ���� �	�
�

��
������� $� ��
� �
�� �	� �%���
��� �������� ��������� ����� �#�� ���)���



��� ������� �	 �
�������

 ��
���

� �� ��
��� �����������

�� ��� ��	 
������ 
� ���������� ����� ��������� �� ��� ���
�� �� ���� ��
�����

�����
���� ��� ����� ���������� ��������� ��������� ���

1

6

∑
123

e−R(E1+E2+E3) (〈123|O|123〉L − 〈O〉L) − 1

2

∑
1

∑
2,3

(〈23|O|23〉L − 〈O〉L)

+

(∑
1

∑
2

∑
3

−1

2

∑
1,2

∑
3

)
(〈3|O|3〉L − 〈O〉L)

��
������ ��� ���� 	��� ���������∑
1

→
∫

dθ1

2π
ρ(1)

∑
1,2

→
∫

dθ1

2π

dθ2

2π
ρ(12)

∑
1,2,3

→
∫

dθ1

2π

dθ2

2π

dθ3

2π
ρ(123)

��� ����� ������ 	� ���

1

6

∫
dθ1

2π

dθ2

2π

dθ3

2π
e−R(E1+E2+E3) (F (123) + 3ρ(1)F (23) + 3ρ(12)F (3))

− 1

2

∫
dθ1

2π

dθ2

2π

dθ3

2π
e−R(E1+E2+E3) (ρ(1)F (23) + 2ρ(1)ρ(2)F (3))

+

∫
dθ1

2π

dθ2

2π

dθ3

2π
e−R(E1+E2+E3)

(
ρ(1)ρ(2)F (3) − 1

2
ρ(12)F (3)

)
	���� 	� ����� �� ���� �� ��� ����������� �����
���� !��� ���� ��� ����� ������ �"��
�

��� ��� ���������� F (123) ��� 	������ �� 
��# �� ��� ����� ���� 	� �
����

1

6

∫
dθ1

2π

dθ2

2π

dθ3

2π
F s

6 (θ1, θ2, θ3)e
−mR(cosh θ1+cosh θ2+cosh θ3) ������

$� �� ���� ���� �� ���� 	��� ����� ���������� � ������ ��������� ��� ���� ���� �� ���� ����

��
1

3

∑
1=2=3

e−R(E1+E2+E3) (〈123|O|123〉L − 〈O〉L)

���� ��� ��
������� θ
(3)
1 , θ

(3)
2 , θ

(3)
3 ��� �%���& ��� �����'
������� (����')��� �%������� ������

�� ��� ���'
������� ����

mL sinh θ
(3)
1 = 2πI1

��������� ��� �������� ����� ������� �� ���� �� ��� ���'
������� �����*

1

3

∫
dθ1

2π
e−3RE1ρ(1) (〈111|O|111〉L − 〈O〉L) =

∫
dθ1

2π
e−3RE1ρ(1)

ρ(11)

ρ(111)
F (1)

→
∫

dθ1

2π
e−3mR cosh θ1F s

2 ������



���� �����	
�	�
���	 	��
����� ��� ��	 ��	������ �������� ���

����� �� �	�
 ����

ρ(1)
ρ(11)

ρ(111)
→ 1

���
 L → ∞�

��� ����������
 �� 
����� �
������ ����	 �	 ���� ���� �
�����
� �� 
��
 �� ��
	�
��

−1

6

(∑
1=2,3

+
∑
1=3,2

+
∑
2=3,1

)
e−R(E1+E2+E3) (〈123|O|123〉L − 〈O〉L)

+
1

2

∑
1

∑
2=3

e−R(E1+E2+E3) (〈23|O|23〉L − 〈O〉L)

+
1

2

∑
1=2

∑
3

e−R(E1+E2+E3) (〈3|O|3〉L − 〈O〉L) ������

�� 
��
 ��� 
�
	��� �� ��������� 
���
����� �������������� 	����	� ��� ������
�  �����!�
�

�"�����
	 ���

mL sinh θ1 + δ(θ1 − θ2) = 2πI1

mL sinh θ2 + 2δ(θ2 − θ1) = 2πI2

����� �� 	����	�
 ���� ��� #�	� �

 ��� ����
 ��������	 ��� 
���
����� ����� I3 = I1�$

�

 �	�
 � ��
��
���
 ��� ��� ���	��	���� �

 ��� "��
��� 
�����	 ����� δ(0) = 0� ���


�
	��� �� ���	� 
���
����� 	����	 �	 ���
 ����
 ��

ρ̄(13, 2) = det

(
LE1 + ϕ(θ1 − θ2) −ϕ(θ1 − θ2)

−2ϕ(θ1 − θ2) LE2 + 2ϕ(θ1 − θ2)

)

����� �� �	�
 ���� ϕ(θ) = ϕ(−θ)� %	�
� ��� ����� ��	��� �

 	��	������
� �
������	 ���

��� 	��	$ �� ��
 ������� �"
� ������ �
 ��� ����

−1

6

∫
dθ1

2π

dθ2

2π
e−R(2E1+E2) ρ̄(13, 2)

ρ(112)
(2ρ(1)F (12) + 2ρ(12)F (1) + ρ(11)F (2)) + . . .

+
1

2

∫
dθ1

2π

dθ2

2π
e−R(E1+2E2)ρ(1)ρ(2)

2ρ(2)

ρ(22)
F (2)

+
1

2

∫
dθ1

2π

dθ3

2π
e−R(2E1+E3)ρ(1)ρ(3)

1

ρ(3)
F (3)

����� ��� �����	�	 
�
��� ��� ����	 ���� ��
 �� �����
�
 �� �������� ����������
 �� ���

�

���	 1, 2, 3 ���� ��� �
� ���� �	 �&�������� 
�	�����
$ �

 ���	� ����� ��
��������
	 ��


�� 	���
 �� �� �"��� �� ���� ����� �� ��������
� ��� �
��������
 ��������	'

−1

2

∫
dθ1

2π

dθ2

2π
e−R(2E1+E2)

ρ̄(13, 2)

ρ(112)
(2ρ(1)F (12) + 2ρ(12)F (1) + ρ(11)F (2))

+
1

2

∫
dθ1

2π

dθ2

2π
e−R(E1+2E2)ρ(1)ρ(2)

2ρ(2)

ρ(22)
F (2)

+
1

2

∫
dθ1

2π

dθ3

2π
e−R(2E1+E3)ρ(1)ρ(3)

1

ρ(3)
F (3) ����(�



��� ������� �	 �
�������

 ��
���

� �� ��
��� �����������

�� ���	 �
��
�	� 	�� 	���� ���	������ F (23) ����� ���
�	� ��

−
∫

dθ1

2π

dθ2

2π
F s

4 (θ1, θ2)e
−mR(cosh θ1+2 cosh θ2) ������


���� 	��	
ρ̄(13, 2)

ρ(112)
ρ(1) = 1 + O(L−1)

�� ��� ��� 	���	 	�� 	���� ���	������ 	�� �����	
�� F (1) = F (2) = F (3) = F s
2 �

���������� 	�� 
�������� θ1 ↔ θ2 �� 	�� ������ ���� ��� ��������� θ3 → θ2 �� 	�� 	����

���� �� � �� ������ ���
�	� ��

F s
2

2

∫
dθ1

2π

dθ2

2π
e−R(2E1+E2)

{
− ρ̄(13, 2)

ρ(112)
(2ρ(12) + ρ(11)) +

2ρ(1)2ρ(2)

ρ(11)
+ ρ(1)

}
!�� �������	��� �� 	�� 
����
� �����	��� �� 	��� ���������� �� 
���� ������� ����� "��� 	��

����� L ��#��	�	���

ρ(i) ∼ EiL , ρ(ij) ∼ EiEjL
2 , ρ(ijk) ∼ EiEjEkL

3 , ρ̄(13, 2) ∼ E1E2L
2

�	 ���
��# ������ ��	� L� $���
��% �	 ��� �� �����# 
������ 	��	 	�� ���&����	 �� 	�� �������

	���% ����� �� ������ �� L% �� ����	�# '���� ��	��
	 	���% 	�� ����� L ����	 ��
�� ��	 ��(�

�����% �� 	��� �� ��	��� �����
����� �� ��� 	��� ����
��	� 	�� �
�)������� 	���% �����

�� 
���� 	����
� �
	 ������	��# �����
��	����� !�� ��� ���
�	 	
��� �
	 	� �� ��	�����#

������

− ρ̄(13, 2)

ρ(112)
(2ρ(12) + ρ(11)) +

2ρ(1)2ρ(2)

ρ(11)
+ ρ(1) = −ϕ(θ1 − θ2) + O(L−1) ����*�

�� 	�� ���	���
	��� �� 	�� L → ∞ ����	 	
��� �
	 	� �� +
�	

−1

2

∫
dθ1

2π

dθ2

2π
F s

2 ϕ(θ1 − θ2)e
−mR(2 cosh θ1+cosh θ2) ����,�

-
����� 
� 	�� ���	���
	���� ������% ������% ������ ��� ����,� �� ��	���

1

6

∫
dθ1

2π

dθ2

2π

dθ3

2π
F s

6 (θ1, θ2, θ3)e
−mR(cosh θ1+cosh θ2+cosh θ3)

−
∫

dθ1

2π

dθ2

2π
F s

4 (θ1, θ2)e
−mR(cosh θ1+2 cosh θ2) +

∫
dθ1

2π
F s

2 e−3mR cosh θ1

−1

2

∫
dθ1

2π

dθ2

2π
F s

2 ϕ(θ1 − θ2)e
−mR(cosh θ1+2 cosh θ2) ����.�

����� ������ ����	�# ��	� � �� ����/��

!��� ���
�	 ��
�� �� ����������	 �
����	 ��� 	�� 0�1����)2
������ ���������� !��

����
��	��� �� ����� ����������	% ��� ��	��
�� �� ���# ���(�� �	 �
	 	� ����� e−3mR%

�	 �� �����	�� 	��	 �	 ��������� ��	� 	�� 0�1����)2
������ ��������� 	� ��� ������� "�� �

������	� ����� �� ���� � ��		�� 
�����	������ �� �	� �	�
�	
��% ����� �� �
	 �� 	�� �����

�� 	�� ������	 ���(�



���� �����	
�	�
���	 	��
����� ��� ��	 ��������� �������� ���

��� �����	
�	�
���	 	��
����� ��� ��	 ��������� �����

����

��� ����	
 ���
����
 �� ��� �����	�
 
����	� ��
 � 
��������	����
 �����
�	� �	 ������

�	��� �	�������	� ������	�
� �	� �������� � ��	��	��� �	�������	� ������	�

〈O1(x, t)O2(0)〉RL =
��L

(
e−RHLO1(x, t)O2(0)

)
��L (e−RHL)

��� �� �����
�
 ��
������ ��	 �	������ 
��
 	� 
����


��L

(
e−RHLO1(x, t)O2(0)

)
=
∑
m,n

e−REn(L)〈n|O(x, t)1|m〉L〈m|O2(0)|n〉L ����� 

��� ��	�� �����

�	� ��� �� ��������
 ��	�� ��� ����
 ���
����
 �� ��� �����	�
 
����	��

��	��
�
 ���� ��� �������
���� 
���� 
��
 ��� ��	����! ��������
� ��� �������� ��������	�

	� �����
�	� ����� ��
 �	� !�� ���� ������
 	��� "
 � #�
� 
���� ���� �� ����
������ ���


�����
� ����
 ��
 ��������� ��� #�
� �	�������� �	��������	�$ ��� 
!
������� ��������	� 	�

������ 	�
�� ����
 �
 ���� �	� ������� �	�%� &� ��
� �	 �����%� ���� ��� �������� ���
����


�� ���
 
����	� �
 �������
��
�

&� 
�#��

〈O1(x, t)O2(0)〉RL =
1

Z

∑
N,M

INM ���'( 

�����

INM =
∑

I1...IN

∑
J1...JM

〈{I1 . . . IN}|O1(0)|{J1 . . . JM}〉L ×

〈{J1 . . . JM}|O2(0)|{I1 . . . IN}〉Lei(P1−P2)xe−E1(R−t)e−E2t ���'� 

��
 E1,2 ��
 P1,2 ��� ��� �	��� �������
 ��
 �	����� 	� ��� �������������� 
����
�

)� �
 ��
! �	 
��� ���� ��� ����
 N = 0, M = 0 . . .∞ ��
 N = 0 . . .∞, M = 0 �

 ��

�	 *��	������������ �	�������	� ������	�

∞∑

M=0

I0M = 〈O1(x, t)O2(0)〉L
∞∑

N=0

IN0 = 〈O1(x, R − t)O2(0)〉L

��� #�
� �	�������� ���� �
 ������	�� I11� ����� �
 ����� �!

I11 =
∑
I,J

〈{I}|O1(0)|{J}〉L 〈{J}|O2(0)|{I}〉L ei(p1−p2)xe−E1(R−t)e−E2t ���'� 

����� �	� E1,2 = m cosh(θ1,2) ��
 p1,2 = m sinh(θ1,2) ��� #���� 
�*� 	����������� �������


��
 �	������ +�	� ����, ��
 ���'� ��� ��	��������� ������ �������
 ��� ����� �!

〈{I}|O1(0)|{J}〉L =
FO1

2 (θ1 + iπ, θ2)√
ρ1(θ1)ρ1(θ2)

+ δIJ 〈O1〉

〈{J}|O2(0)|{I}〉L =
FO2

2 (θ2 + iπ, θ1)√
ρ1(θ1)ρ1(θ2)

+ δIJ 〈O2〉



��� ������� �	 �
�������

 ��
���

� �� ��
��� �����������

�����	���	
� ��
 ����
 �������� 	
�� ������ �

 ����	
�

I11 =
∑
I,J

FO1
2 (θ1 + iπ, θ2)F

O2
2 (θ2 + iπ, θ1)

ρ1(θ1)ρ1(θ2)
ei(p1−p2)xe−E1(R−t)e−E2t

+ 〈O1〉
∑

J

FO2
2 (θ2 + iπ, θ2)

ρ1(θ2)
e−E2R + 〈O2〉

∑
J

FO1
2 (θ1 + iπ, θ1)

ρ1(θ1)
e−E1R

+
∑

I

〈O1〉 〈O2〉 e−E1R ������

��
 ���� �
�� 	
 ������ ��
 �
 ���
�����
� 	
 ��
 L → ∞ �	�	� 	
�� ��
 �
����
�

�

��	
�����	� ��

� �����
 	
�
����∫
dθ1

2π

dθ2

2π
FO1

2 (θ1 + iπ, θ2)F
O2
2 (θ2 + iπ, θ1)e

i(sinh(θ1)−sinh(θ2))mxe−m(R−t) cosh(θ1)−mt cosh(θ2)

����!�

"
 ��
 �
��
� �
� ��	�� �
��� �� ������ �

 ��
 �
���
	#
 ��
 ���� ��
���� ����
��	�
� ��

��
 
$%
����	�
 ����
� �� O2 �
� O1& �� �	�

 � ����'�� ��
 ���� �
�� 	� �� O(L) �
�

���� �	�
��

�( ���
�
�& 	� �
�� ��
�
�
� � ��
 O(L) �
�� ���	
� ���� ��
 
$%�
�	�


1/Z = 1 −
∑

I

e−E1R + O(e−2mR)

)���	
� 
�
� ��	
� ���
��
�

〈O1(x, t)O2(0)〉R = 〈O1〉R 〈O2〉R +

+
(〈O1(x, t)O2(0)〉 − 〈O1〉 〈O2〉

)
+
(〈O1(x, R − t)O2(0)〉 − 〈O1〉 〈O2〉

)
������

+

∫
dθ1

2π

dθ2

2π
FO1

2 (θ1 + iπ, θ2)F
O2
2 (θ2 + iπ, θ1)e

i(sinh(θ1)−sinh(θ2))mxe−m(R−t) cosh(θ1)−mt cosh(θ2)

+O(e−2mR)

*+���	�
 ������ 	� � 

� �
���� �� ��	� ���, �
� 	� ��
 �
��
 �� � �����	
� %�	
� ��

��������
 �	��
� ���
� �
���� �

����� ����	
���
 ���� ��� ����	�
�����	
�� �
����	�

-��
� �
 ��
 �-. �%%����� /
0��	� �
� 1������� %��%��
� ��
 ������	
� �������

��� ��
 ��
���� ����%�	
� ��
��	�
 �
+���	�
 ����� 	
 2�34�

〈O(x, t)O(0, 0)〉R =
( 〈O〉R )2

+

∞∑
N=1

1

N !

∑
σi=±1

∫
dθ1

2π
. . .

dθN

2π

[
N∏

j=1

fσj
(θj) exp

(
− σj(tεj + ixkj)

)]

×∣∣〈0|O|θ1 . . . θN〉σ1...σN

∣∣2 ������

��� ���� �� 	���
 ���� ����
�� ����	����� ��� ���� �	 � ����	� ���� ����� ����� �������� ����� ���

����
����	 �� ���� ������� �	 �������	 �� ��� ����
�� �����
 ��� ����
������  	��� ��	��������	� �� I12 �	�

I21 ��� �
�� �������	�� �	 ������



���� �����	
�	�
���	 	��
����� ��� ��	 ��������� �������� ���

����� fσj
(θj) = 1/(1+e−σjε(θj))� εj = ε(θj)/R 	
� kj = k(θj) ��
� ε(θ) ���
� 
�� ����
��


�� 
�� ��� ���	
��
� ����� 	
� k(θ) ����
 ��

k(θ) = m sinh(θ) +

∫
dθ′δ(θ − θ′)ρ1(θ

′)

2πρ1(θ)(1 + eε(θ)) = m cosh(θ) +

∫
dθ′ϕ(θ − θ′)ρ1(θ

′)

��� ��� �	!
��� 	""�	��
� �
 ���#�� 	�� ��$
�� ��

〈0|O|θ1 . . . θN〉σ1...σN
= FO

N (θ1 − iπσ̃1, . . . , θN − iπσ̃N ) σ̃j = (1 − σj)/2 ∈ {0, 1}

%� �� 
�
 	

� "
 ���� 	 
������� 	
	����� �� ���#��& 
����
������ �� ���� 
� "��



��
� 
�	
 
� ����� O(e−mR) �
 !��
!���� ��
� ��� �����
 ���#��� ��� ������ �

���	� ���#'�

�� ����
 ��� �(	 "�� �� 
�� N = 2� σ1,2 = (+1,−1) 
�� �
 ���#�� 	�
�� �
� ����
�
�
��


�� )��*����� 	""��(� 	
��
�

ε(θ) = mR cosh(θ) + O(e−mR) k(θ) = m sinh(θ) + O(e−mR)

��� �	����
� �� 
�� +�,�	��*-���	��� "��"��	� �	� ����
�� �� 
�� ��.���

 	�
����

/#�� #�0� %� ��� 
�
 $
� 	 ���!��"	
!� 	
 ����� O(e−mR)& �
 �� 	 ���1�!
 �� ��
��� ����	�!�


� ��!��� ���
��� 	�� 
�� � �
 ��� ���*
� "��	
��� �("	
���
 	�� "��"���� ��"����!�� ��

���#���



��� ������� �	 �
�������

 ��
���

� �� ��
��� �����������



������� �

�	
��
��	
�

�� ���� ������ �� ��	����
���� 
���� ���� ������ �� ��� ����������� ����
����� �������


��� ��������� �� ���������� �����	� ����
����� ������ ���� ���
���� ���������
� �����

���� ��� ���� �������� �� ��������� 
���� 	����� ���� ������� �� ����� � ������� ��� 
����

���� ������ �� ����������� ����������

�� ��� 
��� ����  ��� �� ��� ���! �� 
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